Industrial Electronic Scale Replacement Parts Price List
Effective 4/04
Measurement Systems International

Confidential Replacement Parts Price List

Measurement Systems International
Distributor Use Only




Table of Contents

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Page
Discount, Terms, Conditions and Warranty .............cccccoeececcccccucnenee. 3
MSI EXChange Parts ..........cccocueviveieuiieieiececeiee e 4
MSI-600 Series Check-Weigh Head Assembly ...........cccccevvereriicieiiicnennas 6
MSI-600 Series Check-Weigh Head Assembly (4-90 & 0n) .......cccccceuveneee 8
MSI-600 Series Check-Weigh Base Assembly 5 & 101b ......cccoceeeeee. 10
MSI-600 Series Check-Weigh Base Assembly 30 thru200 1b ................ 12
MSI-600 Series Check-Weigh Power Supply Assembly ..........cccocovuevnne. 14
MSI-6000 Series Check-Weigh Head Assembly ...........ccccoevveeieiviviciinnne 16
MSI-6000 Series Check-Weigh Base Assembly 6 & 121b ........c.coco...... 18
MSI-6000 Series Check-Weigh Base Assembly 30 thru2201b .............. 20
MSI-7200 Dyna-Link Standard ASSEMDBIY ..........ccccovvriirererriieeeirecreeeans 22
MSI-7200 Dyna-Link Remote 1 ASSEMDIY .......covvvevriiciericcerieeaes 24
MSI-7200 Dyna-Link Remote 1 Enclosure Assembly ..........ccccevevevennne. 26
MSI-7200 Dyna-Link Remote 2 ASSEMDbIY ..........cccevveeveivieieisieecieiee 28
MSI-7200 Dyna-Link Remote 2 Enclosure Assembly ..........ccceevvvevrienee 30
MSI-7200 RFL DYN@-LINK ...ovovrrieirciriieieisie e 32
MSI-7200 RFH Dyna-Link RF Remote Control...........ccocevvvcverrirencnennes 34
MSI-3260 Challenger Assembly (Front VIeW) .........cccoevenineencninnenes 36
MSI-3260 Challenger Assembly (Back VIEW) ......c.ocoeureeeencereeencenieenes 38
MSI-3260/3360 Challenger Battery Charger Assembly .............ccccovuneeen. 40
MSI-3360 Challenger 2 Assembly (Front VIEW) .........cccovvvereernecennenes 42
MSI-3360 Challenger 2 Assembly (Back VIEW) .......coovvrreveerrecennenes 44
MSI-3360 Challenger 2 Assembly (15,000 [D) .......ocvereuniruniericirerneenns 46
MSI-4260 Port-A-Weigh Front Casting ASSembIY .........ccccoveveveririeenennes 48
MSI-4260 Port-A-Weigh Mid-Section Assembly 500 thru 10,000 Ib ...... 50
MSI-4260 Port-A-Weigh Mid-Section Assembly 20 & 30,000 Ib ............ 52
MSI-4260 Port-A-Weigh Mid-Section Assembly 50 & 70,000 Ib ............ 54
MSI-4260 Port-A-Weigh Battery Casting Assembly ..........cccocevevieirienne 56
MSI-4260 Port-A-Weigh Battery Charger Assembly ..........ccccoceverevernne. 58
MSI-4260 Port-A-Weigh Universal Battery Charger Assembly ............... 60
MSI-4300 Porta-Weigh Plus Front Casting Assembly ..........ccccoveveveunne. 62

MSI-4300 Porta-Weigh Plus Mid-Section Assembly 500 thru 10,000 Ib 64
MSI-4300 Porta-Weigh Plus Mid-Section Assembly 20 & 30,000 Ib...... 66
MSI-4300 Porta-Weigh Plus Mid-Section Assembly 50 & 70,000 Ib....... 68

MSI-4300 Porta-Weigh Plus Battery Casting Assembly ..........cccoceveune. 70
MSI-4300 Porta-Weigh Plus Bulkhead Assembly ...........ccccccooeveveieiernnes 72
MSI-6260 Trans-Weigh Front Casting ASSemMbIY ..........cccooveverrirecreienes 74
MSI-6260 Trans-Weigh Front Casting Assembly (11-98 & On) .............. 76
MSI-6260 Trans-Weigh Front Casting Assembly (11-98 & On) .............. 78
MSI-6260 Trans-Weigh Mid-Section Assembly 500 thru 10,000 b ........ 80
MSI-6260 Trans-Weigh Mid-Section Assembly 20 & 30,000 b ............. 82
MSI-6260 Trans-Weigh Mid-Section Assembly 50 & 70,000 1b ............. 84
MSI-6260 Trans-Weigh Battery Casting Assembly ..........cccccceviveuereines 86

MSI-6260 Trans-Weigh Battery Charger Assembly ...........ccccevvvvveiiiinens 88

Page
MSI-6260 Trans-Weigh Universal Battery Charger Assembly ................. 90
MSI-6260 Trans-Weigh Indicator ASSEmbBIY .......cccoovvveveivicicivieieciee 92
MSI-6260 Trans-Weigh Remote Antenna Assembly ...........ccccevevvveiienne 94
MSI-3600 Magnum Carriage ASSEMDIY .........ccccvvvevevriieieciceecece e 96
MSI-3600 Magnum Indicator ASSEMbBIY ........cccevevevririereiceeereeeieas 98

MSI-3700 Magnum Plus Carriage ASSembIY ........ccccoveverrreererrireenennes
MSI-3700 Magnum Plus Carriage ASSEMDBIY ......cccooveveivvvreirieicirieieie
MSI-5300 Load Ranger Pad ASSEMDIY ........ccoovvvvveivieiciiiiccicee
MSI-3550 Meter Assembly (AC Power INput) ......ccccovveeerneennrereennnns
MSI-3550 Meter Assembly (AC Power Input) ....
MSI-3550 Meter Assembly (Battery POWered) ........cccocoeveereeeneenieinnnns
MSI-3550 Meter Assembly (Battery POWered) ........cccocoeveerereneenicuneens
MSI-3550 Meter Assembly (DC Power Input) ...

MSI-3550 Meter Assembly (DC Power INput) ......cccvvveeeevereerenreneenenns
MSI-3650 Meter Assembly (AC Power INput) ......ccccovveevenernreneennnns
MSI-3650 Meter Assembly (DC Power INput) .......ccoeveeureeeercinecincininns
MSI-3650 Meter Assembly (Battery POWEred) ........cccocoeveerereneenicuneens
MSI-3650/3750 Mounting Bracket ASsembly ...........cccevviiverrirencnenne
MSI-9000 CelISCAIE ......cvvvererreeireireieieisiee st eeesenne
MSI-9002 CellScale Breakout / Summing BoX.........ccccoevvveveriicicriieiennns
MSI-9000 CellScale POWEr SUPPIY ...ovviiiiieiieeeeee e
MSI-3750/3750CS Meter HOUSING .....c.cveveiveveiiiieieisieeeeeee s
MSI-3750/3750CS Front Panel ...........ccccoveireueiniversisieiesiseeieseeieenas
MSI-3750CS Modem ASSEMbBIY .........ccccvvevecverrennes
MSI-6260CS Trans-Weigh Front Casting Assembly ...........cccccoevvvevnnee 138
MSI-6260CS Trans-Weigh Mid-Section Assembly (500 - 10,000 Ib).... 140
MSI-6260CS Trans-Weigh Mid-Section Assembly (20 & 30,000 Ib) .... 142
MSI-6260CS Trans-Weigh Mid-Section Assembly (50 & 70,000 Ib) .... 144
MSI-6260CS Trans-Weigh Battery Casting Assembly ...........cccceeveveeene. 146
MSI-6260CS Trans-Weigh Univeral Battery Charger Assembly ............ 148
MSI-9750 Remote Indicator (Front VIew) .........ccceervenneeeerereeeenns
MSI-9750 Remote Indicator (Back VIEW) ........ccoceevvenninenrreennnes
MSI-9750A Remote Indicator (Front VIEW) .......ccccevvvevnneerncnnnnes
MSI-9750A Remote Indicator (Back VIEW) ........ccceeurieereinicininieinnnne
MSI-9300 Front Casting Assembly Gen. 1 and Gen. 2
MSI-9300 Bulkhead Assembly Gen. 1 and Gen. 2 ..........cccoeeeverreennnnn,
MSI-9300 Mid-Section Assembly (500 - 10,000 [b) ......ccoccerrverrrrirrennns
MSI-9300 Mid-Section Assembly (20 & 30,000 Ib).....
MSI-9300 Mid-Section Assembly (50 & 70,000 1b) ......ccvvervrerrrrirninnnns
MSI-9300 Battery Casting ASSEMBIY .........ccccevvviverririeiesiceeerieee
MSI-9300 Universal Battery Charger ASSEmbIY ..........ccccovvvveverrirencnnne.
MSI-5400 AXIEMAX ASSEMDIY ..o
MSI-9002 CellScale Breakout/Summing BoX........ccccoevvevieivivicirieicinne
Shackle DIMENSIONS ....c.c.vviveeeireeirrceesc e




Discount, Terms, Conditions and Warranty

Replacement Parts/Price List - Effective 4/04
Measurement Systems International

Distributor Discount

The standard distributor discount for MSl replacement parts is 25%
and applies to all published prices effective April 2004. All orders
are subject to final acceptance by MSI. Orders will be accepted
from authorized MSI distributors only. A $35 USD minimum per
purchase order applies for all orders placed by authorized distribu-
tors with MSI. Prices listed are F.O.B. factory.

Terms and Conditions (Domestic Sales)

Each authorized distributor/dealer shall have submitted an original
creditapplication signed and dated with an authorized officer/owner
signature priortoreceiving credit privileges with MSI. Creditapplica-
tions willremain on file and periodically be updated.

New creditapplications will be evaluated by the Credit Departmentand
creditlimits established based onthe applicants credithistory.

MSI's standard creditterms are Net 30 Days. A 1.5% interest penalty
isapplied onany outstanding balance over 60 days late. Accounts 30
days past due are automatically subject to prepayment or C.O.D.
terms. Any work in process s put on credit hold until paymentand any
applicable penalty charges are received. Accounts 60 days pastdue
will resultin permanent prepaymentor C.O.D. terms.

Domestic Shipments: Unless otherwise specified by dealer/dis-
tributor, all domestic shipments up to 150 pounds will be shipped
prepaid via UPS and applicable charges will be added to the order
invoice. MSImay prepay and add freight charges from other carriers
when specified by dealer/distributor. Otherwise, shipments using
carriers other than UPS may be shipped freight collect.

Returned equipment: Permission must be obtained from MSI before
any equipment is returned and shipment must bear the Return
Material Authorization (RMA) Number for identification. New equip-
mentreturned for credit should be receivedinresalable condition and
is subjecttoa 15% service charge. MSlreserves the rightto deduct
for any sustained damage in transit. No deduction for returned
equipmentis accountable fromaremittance until a creditmemorandum
hasbeenissued by MSI.

Unless otherwise authorized by MSI, all returned equipment will only be
accepted whenfreighthas been prepaid.

Order cancellation: MSl will cancel orders for standard equipment at
no service charge prior to shipment. A service charge of 15% plus
transportation charges will be assessed to orders cancelled after
shipment. Aservice charge for cancellation of custom equipmentwill be
determined on anindividual basis.

Exceptions to the above MSI credit policy require written authorization
froma Corporate Director and/or Credit Department.

Terms and Conditions (Export Sales)

Export paymentterms are by irrevocable Letter of Credit, prepayment
or documentary collection depending upon the customer and the
residing country. Allpayments are required in U.S. Dollars.

Export accounts that wish to seek credit terms must submit at least
three creditreferences (preferablyin U.S.A.)and abanking reference.
Creditissuance will be determined by existing credit standing, level of
business with MSl along with the political and economic conditions of
the importing country.

Letter of Credit (L/C)
Orders mustbe covered by anirrevocable commercial Letter of Credit
issued by amajor bank, payable at sight, incorporating the following

terms and conditions:

Issuedinfavorof: Measurement Systems International, Inc.
14240 Interurban Avenue South STE 200
Seattle, Washington 98168-4661 U.S.A.

In an amount not to exceed (amount of L/C) U.S. Dollars, FOB Plant,
Seattle, Washington.

Bank of America

International Trade Operations
800 Fifth Avenue, Floor 31
Seattle, Washington, 98104 USA
SWIFT: BOFAUSBSSEA

Advised through:

Bank of America must be designated as the negotiating bank and
must be authorized to reimburse itself for drawings by:

¢ Debiting the opening bank’s account with Bank of America,
SanFrancisco, California.
¢ Claiming telegraphically on a United States bank.

The L/C is to be payable against the presentation of the following
documents:

¢ Draft drawn on Bank of America “at sight”.

e Commercial Invoice.

e Packing List.

¢ Airway Bill evidencing shipment of the merchandise from
Seattleto destination.

e Import permit number, if applicable, noted onthe L/C.

e Insurance to be effected by buyer.

¢ Transhipment and partial shipments allowed. Documents to

be presented a minimum of 10 days from Airway Bill date.

¢ All banking charges other than those of Bank of America are for
the buyersaccount.

The Letter of Credit mustbe acceptable to MSI before our obligation
tothe orderis considered final.

Paymentwith Visa/MasterCard is also accepted.

Export Administrative Fees

R
(Apply with L/C and Documentary Collection VISA '@mm‘ \arge
of $325 USD)

Freight Forwarder

Orders will be shipped whenever possible by a customer specified
freight forwarder. When one is not specified, MS| will attempt to ship
by the least expensive freight forwarder. By following the above
procedures, orders will be processed faster and at less expense. Ifany
other method of shipping and paymentis used, the cost of additional
exportdocumentation, insurance, freight, etc. will be added to the net
selling prices.

Limited Warranty

Warranty Terms are detailed in each operating manual. In general,
there is a one year warranty against factory defects on all MSI
equipment. Batteries and cables are warranted for 90 days. Warranty
repairis to be conducted at the plant unless specifically authorized in
writing by MSI. When authorized warranty repair is conducted by the
Distributor, the rates paid by MSI are $35.00 per hour for labor.

Technical specifications subject to change without notice.

Prices suggested list F.O.B. MSI plant, Seattle, WA are subject to change without notice.

Page 3



MSI Exchange Parts

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Summarized below are the components elgible for the MSI
Exchange Parts program. MSI will invoice the full price of
the exchanged part at the time of sale. When the exchange
core is received, upon evaluation and acceptance, the
core's value will be credited to the Authorized Distributor's
account. The serial number of the equipment / scale and a
purchase order are required when exchanged parts are
ordered. Prices do notinclude shipping charges.

List Exchange

Product Price Price
MSI-600 Check Weigh:

Computer PCB $600.00 $425.00

Display PCB $500.00 $425.00

Load Cell (small capacity) $625.00 $500.00

Load Cell (large capacity)  $650.00 $500.00
MSI-6000 Check Weigh:

Main/Display PCB $925.00 $425.00

Option PCB $295.00 $200.00

Load Cell (small capacity) $695.00 $500.00

Load Cell (large capacity)  $650.00 $500.00

MSI-7200 / MSI-7200 RF Dyna Link:

Display PCB $475.00 $325.00
Remote 1 PCB $575.00 $325.00
Remote 2 PCB $500.00 $325.00
Amplifier PCB $200.00 $135.00
Trans/Receive PCB set $790.00 $350.00
RF Handheld $995.00 $500.00
MSI-3260 Challenger:
Load Cell (250 - 2k) $695.00 $600.00
Load Cell (5k - 10k) $850.00 $600.00
MSI-3360 Challenger I
Computer PCB $375.00 $325.00
Display PCB $325.00 $270.00
Load Cell (250 - 2k) $595.00 $500.00
Load Cell (5k - 10k) $750.00 $500.00
Load Cell (15k) $1025.00 $500.00
MSI-4260 Port-A-Weigh:
Computer/Display PCB set $1100.00 $750.00
Remote Receiver PCB $275.00 $150.00
Load Cell (500) Contact Factory  $600.00
Load Cell (2k) $800.00 $600.00
Load Cell (5k) $800.00 $600.00
Load Cell (10k) $1175.00 $600.00
Front Casting Assembly  $2250.00 $600.00

Evaluation Criteria:

The parts returned to MSI for exchange must be received
within 30 days, be identical to those shipped and be
repairable. If the returned parts are not identicla, not
repairable or not returned within 30 days, the Authorized
Distributor's account will not be credited for the core's
value.

List Exchange
Product Price Price
MSI-4300 Porta-Weigh Plus:
Computer/Display Assy $1425.00 $600.00
Load Cell (500) Contact Factory $600.00
Load Cell (2k) $800.00 $600.00
Load Cell (5K) $800.00 $600.00
Load Cell (10k) $1175.00 $600.00
Front Casting Assembly ~ $1895.00 $950.00
MSI-6260 Trans-Weigh:
Indicator Controller PCB  $1050.00 $500.00
Trans/Receive Set Tuned  $925.00 $450.00
Load Cell (500) Contact Factory $600.00
Load Cell (2k) $800.00 $600.00
Load Cell (5k) $800.00 $600.00
Load Cell (10k) $1175.00 $600.00
Adapter PCB $200.00 $150.00
Crane Controler PCB $375.00 $325.00
MSI-3700 Magnum Plus:
3600 Load Cell $850.00 $500.00
3700 Load Cell $850.00 $500.00
MSI-3550 Digital Indicator:
Computer PCB $375.00 $325.00
Display PCB $325.00 $270.00
Interface PCB $110.00 $105.00
Indicator Assembly $895.00 $530.00

MSI-3650 / MSI-3750 Digital Indicator:

Computer/Display PCB $950.00 $425.00

DC/DC PCB $150.00 $130.00

Option PCB $295.00 $200.00

Indicator Assembly $1295.00 $695.00
MSI-5300 Load Ranger:

Display PCB $400.00 $230.00

MSI warrants all exchange parts against defects in workmanship and materials for a period of 90 days from date of purchase.
Pending stock status, exchange parts can be ordered and shipped the same day, if ordered prior to 12:00 PM, Pacific Time.

Page 4

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI Exchange Parts (Continued)

Replacement Parts/Price List - Effective 4/04
Measurement Systems International

List Exchange

Product Price Price
MSI-9000 CellScale:

Complete MSI-9000 $2995.00 $1250.00

RF Modem $1600.00 $600.00
MSI-3750CS RF Digital Weight Indicator:

Front Panel Assembly $1295.00 $575.00

RF Modem $1600.00 $600.00
MSI-6260CS Trans-Weigh RF Digital Crane Scale:

RF Modem $1600.00 $600.00

Front Casting Assembly with Modem

$2595.00 $750.00

MSI-9300 Porta-Weigh Plus RF Digital Crane Scale:
RF Modem $1600.00 $600.00
Front Casting Assembly with Modem
$3495.00 $1145.00
Front Casting Assembly without Modem
$2500.00 $950.00

MSI warrants all exchange parts against defects in workmanship and materials for a period of 90 days from date of purchase.
Pending stock status, exchange parts can be ordered and shipped the same day, if ordered prior to 12:00 PM, Pacific Time.

Technical specifications subject to change without notice. Page 5
Prices suggested list F.O.B. MSI plant, Seattle, WA are subject to change without notice.



MSI-600 Series Check-Weigh Head Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

DO RDRRN = — — — — 11
O RN 20000000 ~NOITA~ADWN 20 ©ONO O~ =

Part Number

C00472-0002
D00590-0003
20210-0001
30035-0008
D00591-0001
37300-0001
38780-0314
21650-3030
21901-0006
30017-0015
38604-0222
30055-0004
B00540-0100
500043-0100
500086-0100
B00436-0003
36150-0001
38605-0004
38156-0022
38604-0326
C00479-0001
C00479-0002
C00479-0007
C00479-0004
C00479-0005
C00479-0006
30042-0004
30575-0003
30575-0005
25925-0002
20825-0027
D00805-0100
B00480-0001

Description

Gasket

PCB, computer

Post, support, nylon

Nut, hex, 4-40, nyloc, SS

PCB, display

Lamp

Jumper, flex

Boot, switch

Washer, seal, 6-32, SS

Nut, hex, 6-32, SS

Connector, Panduit

Nut, hex, 5/16-24, SS

Window, clear (must order w/adhesive)
Adhesive, window (for BO0540-0100)
Head

Switch assembly

Switch

Connector, Molex

Pin, crimp

Connector, Panduit

Label, capacity, 5 Ib

Label, capacity, 10 Ib

Label, capacity, 30 Ib

Label, capacity, 50 Ib

Label, capacity, 100 Ib

Label, capacity, 200 Ib

Spacer, 4-40 x 5/16, hex, alum

Fuse, 1/4 amp, 125V, axial, subminiature (F1)
Fuse, 1/2 amp, 125V, axial, subminiature (F3)
Desiccant

Screw, seal, PH, 6-32 x 1/4, Phil, SS
Panel

Label

List Price

15.00
600.00
.50

1.00
500.00
13.00
5.00
5.00
3.00

.50

1.00

.50
22.00
13.00
110.00
60.00
20.00
1.00
1.00
1.00
60.00
60.00
60.00
obsolete
obsolete
obsolete
1.00
4.00
3.50
1.00
1.00
50.00
obsolete

Page 6

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-600 SERIES CHECK-WEIGH
HEAD ASSEMBLY
Measurement Systems International

14240 Interurban Avenue South STE 200
PUB.184-09-92 Seattle, Washington 98168-4661 U.S.A.



MSI-600 Series Check-Weigh Head Assembly (4-90 & on)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

NN RNRNRNRNRN & 4+ 4 4 4 4 4 4 4 4
N RN 20000 0RM VDT ARADON 20 ©ON®O~N =

Part Number

C00472-0002
D00590-0003
20210-0001
30035-0008
D00591-0001
37300-0001
38780-0314
21901-0008
30017-0016
38604-0222
30055-0004
B00540-0100
500043-0100
500086-0100
500088-0001
22000-2016
38604-0326
36151-0005
38605-0004
38156-0022
C00479-0001
C00479-0002
C00479-0007
C00479-0004
C00479-0005
C00479-0006
30042-0004
30575-0003
30575-0005
25925-0002
20825-0027
D00805-0100
B00480-0001

Description

Gasket

PCB, computer

Post, support, nylon

Nut, hex, 4-40, nyloc, SS

PCB, display

Lamp

Jumper, flex

Washer, seal, 8-32, SS

Nut, hex, 8-32, SS

Connector, Panduit

Nut, hex, 5/16-24, SS

Window, clear (must order w/adhesive)
Adhesive, window (for BO0540-0100)
Head

Switch assembly

O-Ring

Connector, Panduit

Switch

Connector, Molex

Pin, crimp

Label, capacity, 5 Ib

Label, capacity, 10 Ib

Label, capacity, 30 Ib

Label, capacity, 50 Ib

Label, capacity,100 Ib

Label, capacity, 200 Ib

Spacer, 4-40 x 5/16, hex, alum

Fuse, 1/4 amp, 125V, axial, subminiature (F1)
Fuse, 1/2 amp, 125V, axial, subminiature (F3)
Desiccant

Screw, seal, PH, 6-32 x 1/4, Phil, SS
Panel

Label

List Price

15.00
600.00
.50

.50
500.00
13.00
5.00
3.00

.50

1.00

.50
22.00
13.00
110.00
60.00
.50

1.00
23.00
1.00
1.00
60.00
60.00
60.00
obsolete
obsolete
obsolete
1.00
4.00
3.50
1.00
1.00
50.00
obsolete

Page 8

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSl-600 SERIES CHECK-WEIGH
HEAD ASSEMBLY (490 and on)
Measurement Systems Infernationzl
14240 Interurban Avenue South STE X0
FLEL RSO0 Lieatte, Washington 281684651 LLSA




MSI-600 Series Check-Weigh Base Assembly 5 & 10 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

| )00 1 T )V T | N Y W Vo W G W U G W W W W W Y
XN2O0OO0CONODTEWNNNON 20 O©XNOOA LN =

Part Number

20850-0066
20850-0045
20800-0066
500339-0001
30017-0016
20850-0051
B00549-0100
D00621-0002
B00477-0001
D00621-0003
20952-0043
D00634-0003
D00634-0005
D00634-0004
D00634-0006
D00632-0015
10349
D00815-0100
22722-0001
30013-0040
30016-0034
20850-0127
30016-0038
30013-0046
30017-0020
23500-0003

Description

Bolt, HH, 10-32 x 1/2, SS
Bolt, HH, 8-32 x 3/8, SS

Screw, BH, 10-32 x 1/2, socket, SS

Base

Nut, hex, 8-32, SS

Bolt, HH, 8-32 x 1, SS

Bumper

Spider

Ground strap

Platter

Screw, set, 8-32 x 1/4, allen, SS
Load cell assembly, 5 Ib

Load cell assembly, 5 Ib remote
Load cell assembly, 10 Ib

Load cell assembly, 10 Ib remote
Power supply assembly, 115VAC
Stand off, 8-32 x 1, 1/4 hex, SS
Neck

Clamp, cable, SS

Washer, flat, #6, SS

Washer, lock, split, #6, SS

Bolt, HH, 1/4-20 x 1-3/4, SS
Washer, lock, split, 1/4, SS
Washer, flat, 1/4, SS

Nut, hex, 1/4-20, SS

Foot, 1/4-20 x 1, SS

List Price

1.00

.50

.50
obsolete
.50

1.00
4.00
obsolete
15.00
obsolete
obsolete
625.00
625.00
625.00
625.00
400.00
5.00
125.00
obsolete
.50

.50

1.00

.50

.50

.50
10.00

Page 10

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-600 SERIES CHECK-WEIGH
BASE ASSEMBLY, 5and 10 LB
Meszsuremant Syskems nlemaional
14240 Inlgrurban Averwae South STE 200
Seatle, Wiashinglon SE1GS4EE1 1154

UL Bl



MSI-600 Series Check-Weigh Base Assembly 30 thru 200 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

NNDNODMNNDMNDNON & 4 4 44 a4
TORON20O0OOOONDTARDN =0 O©CP®NDO AN

Part Number

30013-0040
22722-0001
30016-0034
30028-0228
D00632-0015
B00478-0003
30035-0015
500150-0100
23500-0003
30017-0020
30013-0046
20850-0123
500742-0100
500153-0100
B00477-0001
A00043-0001
20952-0006
D00576-0011
D00576-0013
D00576-0012
D00576-0014
500741-0100
20850-0135
20800-0066
20850-0066
20850-0127
30016-0038
500152-0100

Description

Washer,flat, #6, SS

Clamp, cable, SS

Washer, lock, split, #6, SS

Screw, PH, 6-32 x 3/8, Phil, SS
Power supply assembly, 115VAC
Gasket

Nut, hex, 6-32, nyloc, SS

Base

Foot

Nut, hex, 1/4-20, SS

Washer, flat, 1/4, SS

Bolt, HH, 1/4-20 x 1, SS

Spider

Platter

Ground strap

Screw, machined, 5/16-24 x 1/2, hex, SS
Screw, set, 10-32 x 1/2, allen, SS
Load cell assembly, 30/50 Ib

Load cell assembly, 30/50 Ib remote
Load cell assembly, 100/200 Ib
Load cell assembly, 100/200 Ib remote
Bumper

Bolt, HH, 5/16-24 x 1/2, SS

Screw, BH, 10-32 x 1/2, socket, SS
Bolt, HH, 10-32 x 1/2, SS

Bolt, 1/4-20 x 1-3/4, hex, SS
Washer, lock, split, 1/4, SS

Neck

List Price

1.00
obsolete
1.00
1.00
400.00
7.00

.50
obsolete
10.00
.50

.50

1.00
350.00
obsolete
15.00
obsolete
obsolete
650.00
650.00
650.00
650.00
6.00
1.00

.50

1.00
1.00

.50
obsolete

Page 12

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



PUB. 1870202

MSI-600 SERIES CHECK-WEIGH
BASE ASSEMBLY, 30 through 200 LB
Measurement Systems International

14240 Interurban Avenue South STE 200
Seattle, Washington 98168-4661 U.S.A.



MSI-600 Series Check-Weigh Power Supply Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

O©COoONOOM~DWN

—_
— O

Part Number

C00480-0001
D00740-0200
30003-0002
D00630-0001
D00630-0003
38610-0422
B00478-0003
D00741-0200*
25350-0006
30577-0006
B00524-0038
B00525-0001

* [tem not used on all models.

Description

Label

Enclosure

Spacer, #4 x 3/16, fiber

PCB, power supply,115 VAC
PCB, power supply,115 VAC w/RS232
Connector, Amp

Gasket

Plate, mounting

Tubing, fiberglass

Fuse, 1/8 Amp, 250V, time-delay
Cable, power, DC

Cable, power, AC

List Price

20.00
160.00
1.00
140.00
150.00
1.00
7.00
35.00
1.00
5.00
60.00
40.00

Page 14

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-600 SERIES CHECK-WEIGH
POWER SUPPLY ASSEMBLY

Measurement Systems International
14240 Interurban Avenue South STE 200
FUB.18800.92 Seattle, Washington 98168-4661 U.S.A.



MSI-6000 Series Check-Weigh Head Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

NSRS N NG U W O —
AT E N0 U A WN =

15A
16
17
18
19
20
21
22
23
24
25

25A

25B
26
26
26
26
26
26

Part Number

30013-0046
20850-0120
10731
30017-0016
500714-0100
10119

10639

10517
501619-0100
500590-0200
10239

10663

10776

11634
30036-0005
10801
501322-xxxx
500635-0400
500604-0200
11203

11201
21615-0002
30028-0212
10687

10271
500001-0100
10522
500758-0100
500758-0200
500758-0300
500758-0400
500758-0500
500758-0600

Description

Washer, flat, 1/4, SS

Bolt, HH, 1/4-20 X 5/8, SS
Washer, nylon, .260 X .687 X .060
Nut, hex, 8-32, SS

Bracket, mounting

Connector, feed-thru, w/nut
Screw, seal, PH, 8-32 X 3/8, Phil, SS
Standoff, hex, 4-40 X 3/8, alum.
Label

Head

Desiccant

U-Nut, 8-32

Screw, seal, HH, 1/4-20 X 3/8, SS
Standoff, hex 1/4 SS

Nut hex, 4-40, nyloc

Screw, PH, locking, 4-40 x 3/16, Phil, SS

PCB, computer/display

Gasket

Panel

Screw, seal, HH, 8-32 X 7/16, SS
Screw, seal, HH, 8-32 X 7/16, drilled
Washer, flat, .120 X .280, nylon
Screw, PH, 4-40 X 1/4, Phil, SS
Cap, black

Switch

LCD liquid crystal

Fuse, 1/4 amp

Label, capacity, 6 Ib

Label, capacity, 12 Ib

Label, capacity, 30 Ib

Label, capacity, 60 Ib

Label, capacity, 120 Ib

Label, capacity, 220 Ib

List Price

.50
1.00
.50
.50
95.00
3.50
3.00
1.00
50.00
150.00
1.00
1.00
5.00
2.50
1.00
1.00
925.00
10.00
50.00
5.00
9.00
.50
.50
1.00
4.00
70.00
10.00
7.50
7.50
7.50
7.50
7.50
7.50

**** Due to the large number of possible configurations of this assembly, please contact factory for assistance.

Page 16

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.






MSI-6000 Series Check-Weigh Base Assembly 6 & 12 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

—_ 1 4 1 1
m_,;wm_kotooooooooo\lovm.boor\a—x

15A

15B
16
17
18
19
20
21
22
23
24
25

Part Number

500752-0100
30055-0003
30013-0047
500731-0100
30017-0016
20850-0051
10706
500702-0009
500702-0011
500702-0010
500702-0012
500843-0100
B00549-0100
500790-0100
B00477-0001
20850-0066
500738-0100
20850-0064
20850-0063
30017-0017
500733-0100
20850-0126
10349
30016-0038
10758
30017-0020
500717-0100
20850-0045
30013-0042
30013-0041

Description

Foot, support

Nut, hex, 5/16-18, SS
Washer, flat, 5/16, SS
Base

Nut, hex, 8-32, SS
Bolt, HH, 8-32 X 1, SS
Level, circular

Load cell assembly, 6 b, 350Q (AC power)

Load cell assembly, 6 b, 2000 Q (DC power)
Load cell assembly, 12 Ib, 350 Q (AC power)
Load cell assembly, 12 Ib, 2000Q (DC power)

Label, warning

Bumper

Spider

Ground strap

Bolt, HH, 10-32 X 1/2, SS
Platter

Bolt, HH, 10-32 X 3/8, SS
Screw, HH, 10-32 X 5/16, SS
Nut, HH, 10-32, SS

Neck

Bolt, HH, 1/4-20 X 1-1/2, SS
Standoff, 1/4 hex, 8-32 X 1, SS
Washer, lock, split, 1/4, SS
Grommet

Nut, hex, 1/4-20, SS

Cable, power

Bolt, HH, 8-32 X 3/8, SS
Washer, flat, #10, SS
Washer, flat, #8, SS

List Price

12.00
1.00
.50
300.00
.50
1.00
5.00
660.00
660.00
695.00
695.00
8.00
4.00
200.00
15.00
1.00
200.00
1.00
1.00
1.00
115.00
1.00
5.00
.50
1.00
.50
20.00
.50

.50

.50

Page 18

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



\ A

= NHIHH R

V/

T
o
=
%
[&]
i}
T
[&]
n
w
[
L
77}
o
o
o
«@
%]
=

BASE ASSEMBLY 6 AND 12LB
Measurement Systems Interntional

14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A

=

PUB.234-05-94C



MSI-6000 Series Check-Weigh Base Assembly 30 thru 220 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

OCONOOOOOOOOUTDM,WN =

20A

Part Number

500752-0100
30055-0003
30013-0047
500735-0100
20850-0153
500703-0012
500703-0014
500703-0013
500703-0015
500742-0100
500741-0100
10706
20850-0136
B00477-0001
20850-0047
30017-0016
500745-0100
500843-0100
500670-0100
30016-0038
30017-0020
20850-0119
500717-0100
10757
500654-0100
20850-0135
20850-0066
20850-0046

Description

Foot, support

Nut, hex, 5/16-18, SS

Washer, flat, 5/16, SS

Base

Bolt, HH, 5/16-18 X 3/4, SS

Load cell assembly, 30/60 Ib, 350Q (AC power)
Load cell assembly, 30/60 Ib, 2000Q (DC power)
Load cell assembly, 120/220 Ib, 350Q (AC power)
Load cell assembly, 120/220 Ib, 2000Q (DC power)
Spider

Bumper

Level, circular

Bolt, HH, 5/16-24 X 5/8, SS

Ground strap

Bolt, HH, 8-32 X 1/2, SS

Nut, hex, 8-32, SS

Platter

Label, warning

Neck

Washer, lock, split, 1/4, SS

Nut, hex, 1/4-20, SS

Bolt, HH, 1/4-20 X 1/2, SS

Cable, power

Grommet

Bracket neck mounting

Bolt, HH, 5/16-24 X 1/2, SS

Bolt, HH, 10-32 X 1/2, SS

Bolt, HH, 8-32 X 7/16, SS

List Price

12.00
1.00
.50
525.00
1.00
650.00
650.00
650.00
650.00
350.00
6.00
5.00
1.00
15.00
.50

.50
195.00
8.00
130.00
.50

.50
1.00
20.00
1.00
70.00
1.00
1.00
1.00

Page 20

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



LRI RN
\/ @ —

(P

e .3')»»»») -
)

4

<o

) )

b

am)

12A

20A

BASE ASSEMBLY 30 THRU 220 LB

MSI-6000 SERIES CHECK-WEIGH
Measurement Systems International

PUB. 235-05-94C

14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A



MSI-7200 Dyna-Link Standard Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 500255-0001 Battery cap assembly 30.00
2 10298 Battery, alkaline, C cell 2.50
3 500194-0100  Label, capacity, 1,000 Ib /500 kg 15.00
3 500194-0200  Label, capacity, 2,000 Ib/1,000 kg 15.00
3 500194-0300  Label, capacity, 5,000 Ib/2,500 kg 15.00
3 500194-0400  Label, capacity, 10,000 Ib/5,000 kg 15.00
3 500194-0500  Label, capacity, 25,000 Ib/12,500 kg 15.00
3 500194-0600  Label, capacity, 50,000 Ib/25,000 kg 15.00
3 500194-0700  Label, capacity, 100,000 Ib/50,000 kg 15.00
3 500194-0800 Label, capacity, 500 Ib/250 kg 15.00
3 500194-0900  Label, capacity, 160,000 1b/80,000 kg 15.00
3 500194-1000  Label, capacity, 220,000 Ib/110,000 kg 15.00
3A 10761 Screw, PH, 6-32 x 3/16, Phil, SS 1.00
4 500575-0001 Display assembly 475.00
4A 10271 Switch 4.00
5 10300 Foil, aluminum .004th x .250w 1.00
6 10595 Spacer, 1/4 round, 8-32 x 1.28 (500 Ib thru 2K&10K) 6.00
6 10596 Spacer, 1/4 round, 8-32 x 1.58 (5K) 7.00
6 10597 Spacer, 1/4 round, 8-32 x 1.86 (25K) 12.00
6 10598 Spacer, 1/4 round, 8-32 x 2.43 (50K) 13.00
6 10599 Spacer, 1/4 round, 8-32 x 2.78 (100K) 14.00
7 11429 Spacer, # 6, .375, w/locking PCB mounts 1.00
8 10307 Screw, PH, 6-32 x 7/16, Phil, SS 1.00
9 10878 Screw, PH, 8-32 x 3/8, Phil, SS 1.00
10 500193-0100  Label 35.00
11 10306 Screw, PH, 6-32 x 3/8, Phil, SS 1.00
12 500195-0200  Panel 25.00
13 500199-0100  Shield, EMI 3.00
14 10296 Stand off, hex, 6-32 x 3/8, aluminum 1.00
15 500198-0200  Gasket 3.50
16 30028-0225 Screw, PH, 6-32 x 3/16, Phil, SS .50
17 500560-0001 Load cell assembly, 500 Ib 865.00
17 500260-0001 Load cell assembly, 1,000/2,000 Ib 865.00
17 500261-0001 Load cell assembly, 5,000 Ib 950.00
17 500230-0001  Load cell assembly, 10,000 Ib 1125.00
17 500264-0001 Load cell assembly, 25,000 Ib 1400.00
17 500347-0001  Load cell assembly, 50,000 Ib 1600.00
17 500349-0001 Load cell assembly, 100,000 Ib 2500.00
18 500620-0001  Ground strap 10.00
18A 10669 Screw, 6 x 1/4, SS 50
19 500200-0200 Gasket 3.50
20 500197-0100  Panel 25.00
21 20825-0047 Screw, seal, PH, 8-32 x 1/2, Phil, SS 1.50
22 20825-0041 Screw, seal, PH, 8-32 x 1/8, Phil, SS 2.00

Page 22 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-7200 DYNA-LINK

STANDARD ASSEMBLY

Measurement Systems International

14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A

PUB. 189-09-92C



MSI-7200 Dyna-Link Remote 1 Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

B N T T N N N T T S N N N S e
D U O PR R PRI NI S ©OW©W©©OW©E©©©O©WO®MW®E~N®U A WN =

Part Number

500255-0001
10298
30028-0212
20701-0003
10466
500571-0001
10300

10595

10596

10697

10598

10599
500194-0100
500194-0200
500194-0300
500194-0400
500194-0500
500194-0600
500194-0700
500194-0800
500194-0900
500194-1000
500268-0100
20825-0047
500196-0100
500198-0200
500560-0001
500260-0001
500261-0001
500230-0001
500264-0001
500347-0001
500349-0001
500597-0001
500620-0001
30028-0212
500200-0200
20825-0041

Description List Price
Battery cap assembly 30.00
Battery, alkaline, C cell 2.50
Screw, PH, 4-40 x1/4, phil, SS .50
Washer, # 4, internal tooth, SS .50
Switch, cap key, micro-cosmos 1.00
PCB, amplifier, load cell 200.00
Foil, aluminum .004th X .250w 1.00
Spacer, 1/4 round, 8-32 x 1.28 (500#-2K, 10K) 6.00
Spacer, 1/4 round, 8-32 x 1.58 (5K) 7.00
Spacer, 1/4 round, 8-32 x 1.86 (25K) 12.00
Spacer, 1/4 round, 8-32 x 2.43 (50K) 13.00
Spacer, 1/4 round, 8-32 x 2.78 (100K) 14.00
Label, capacity, 1,000 I1b/500 kg 15.00
Label, capacity, 2,000 Ib/1,000 kg 15.00
Label, capacity, 5,000 1b/2,500 kg 15.00
Label, capacity, 10,000 Ib/5,000 kg 15.00
Label, capacity, 25,000 Ib/12,500 kg 15.00
Label, capacity, 50,000 [b/25,000 kg 15.00
Label, capacity, 100,000 Ib/50,000 kg 15.00
Label, capacity, 500 Ib/250 kg 15.00
Label, capacity, 160,000 1b/80,000 kg 15.00
Label, capacity, 220,000 Ib/110,000 kg 15.00
Label 40.00
Screw, seal, PH, 8-32 x 1/2, phil, SS 1.50
Panel 40.00
Gasket 3.50
Load cell assembly, 500 Ib 865.00
Load cell assembly, 1,000/2,000 Ib 865.00
Load cell assembly, 5,000 Ib 950.00
Load cell assembly, 10,000 Ib 1125.00
Load cell assembly, 25,000 Ib 1400.00
Load cell assembly, 50,000 Ib 1600.00
Load cell assembly, 100,000 Ib 2500.00
Enclosure assembly, remote 1 1000.00
Ground strap 10.00
Screw, PH, 4-40 x 1/4, Phil, SS .50
Gasket 3.50
Screw, seal, PH, 8-32 x 1/8, Phil, SS 2.00

Page 24

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-7200 DYNA-LINK

REMOTE 1 ASSEMBLY
Measurement Systems International
14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A

PUB. 190-09-92



MSI-7200 Dyna-Link Remote 1 Enclosure Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 500240-0100  Panel 75.00
2 10447 Strain relief, liquid tight, flexible, w/nut 7.00
3 10161 Lug (solder),#6 1.00
4 38610-0622 Connector, #6 , Amp 2.00

4A 10271 Switch 4.00

5 10296 Stand off, hex, 6-32 x 3/8, alum 1.00
6 10353 Screw, HH, M4 x .7 x 10mm, nylon 1.00
7 10306 Screw, PH, 6-32 x 3/8, Phil, SS 1.00
8 500258-0100  Label 50.00
9 500269-0200  Panel 75.00
10 500273-0100  Shield, EMI 3.00
11 10441 Washer, flat, # 6, SS 1.00
12 10305 Enclosure 165.00
13 500595-0001 Display assembly, remote 1 575.00
14 20701-0004 Washer, # 6, internal tooth, SS .50
15 30028-0226 Screw, PH, 6-32 x 1/4, Phil, SS .50
16 500336-0100  Shield, EMI 17.00
17 38610-0822 Connector, # 8, Amp 2.00
18 500296-0100  Cable, 22 awg, 3 pair, double shielded 25 ft 50.00

Page 26 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



026-60-161"4nd

V'S’ 199589186 UoiBulisem 'apieas
00Z3LS WNOS anuany UeqINIA}U] 032y b
[euofewa)U| SWalSAS Juswainseay
ATGNISSY JHUNSOTONI

} 3LONIY

ANITVYNAQ 002 ISW




MSI-7200 Dyna-Link Remote 2 Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 500255-0001 Battery cap assembly 30.00
2 10298 Battery, alkaline, C cell 2.50
3 500194-0100  Label, capacity 1,000 Ib/500 kg 15.00
3 500194-0200  Label, capacity 2,000 Ib/1,000 kg 15.00
3 500194-0300  Label, capacity 5,000 Ib/2,500 kg 15.00
3 500194-0400  Label, capacity 10,000 Ib/5,000 kg 15.00
3 500194-0500  Label, capacity 25,000 Ib/12,500 kg 15.00
3 500194-0600  Label, capacity 50,000 Ib/25,000 kg 15.00
3 500194-0700  Label, capacity 100,000 Ib/50,000 kg 15.00
3 500194-0800 Label, capacity 500 Ib/250 kg 15.00
3 500194-0900  Label, capacity 160,000 1b/80,000 kg 15.00
3 500194-1000  Label, capacity 220,000 Ib/110,000 kg 15.00
3A 10761 Screw, PH, 6-32 x 3/16, Phil, SS 1.00
4 500575-0001 Display assembly 475.00
4A 10271 Switch 4.00
5 10300 Foil, aluminum .004th X .250w 1.00
6 10595 Spacer, 1/4 round, 8-32 X1.28 (500#-2K, 10K) 6.00
6 10596 Spacer, 1/4 round, 8-32 X1.58 (5K) 7.00
6 10597 Spacer, 1/4 round, 8-32 X1.86 (25K) 12.00
6 10598 Spacer, 1/4 round, 8-32 X2.43 (50K) 13.00
6 10599 Spacer, 1/4 round, 8-32 X2.78 (100K) 14.00
7 11429 Spacer 1.00
9 10308 Screw, PH, 8-32 x 3/8, Phil, SS 1.00
10 500193-0100  Label 35.00
11 10306 Screw, PH, 6-32 x 3/8, Phil, SS 1.00
12 500195-0200  Panel 25.00
13 500199-0100  Shield, EMI 3.00
14 10296 Stand off, hex, 6-32 x 3/8, alum 1.00
15 500198-0200 Gasket 3.50
16 500620-0001 Ground strap 10.00
16A 30028-0225 Screw, PH, 6-32 x 3/16, Phil, SS .50
17 10669 Screw, PH, 6-32 x 1/4, Phil, SS .50
18 500560-0001 Label, capacity 500 Ib 865.00
18 500260-0001 Load cell assembly, 1,000/2,000 Lb. 865.00
18 500261-0001 Load cell assembly, 5,000 Ib 950.00
18 500230-0001  Load cell assembly, 10,000 Ib 1125.00
18 500264-0001 Load cell assembly, 25,000 Ib 1400.00
18 500347-0001  Load cell assembly, 50,000 Ib 1600.00
18 500349-0001 Load cell assembly, 100,000 Ib 2500.00
19 500598-0001  Enclosure assembly, remote 2 (contact factory for quote)
20 500200-0200  Gasket 3.50
21 20825-0047 Screw, seal, PH, 8-32 x 1/2, phil, SS 1.50
22 20825-0041 Screw, seal, PH, 8-32 x 1/8, phil, SS 2.00

Page 28 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



PUB. 192-09-92C

<
ﬁui
© o
59 =

28
«© ©
x:ES‘.’
manNg
£Z=S:Eg9g

-

IhEeT
D [ =4
£2358
o
DN%’E%
S
& £=
OSE~
T=398
D w SNS
Sx=3Ia



MSI-7200 Dyna-Link Remote 2 Enclosure Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 500240-0100  Panel 75.00
2 10447 Strain relief, liquid tight, flexible w/nut 7.00
3 500296-0100 Cable, 22 awg, 3 pair, double shielded 25 ft 50.00
4 38610-0822 Connector, # 8, Amp 2.00
4A 10136 Washer, nylon #6 1.00
5 10161 Lug (solder), # 6 1.00
5A 10271 Switch 4.00
6 10441 Washer, flat, # 6, SS 1.00
7 10296 Stand off, hex, 6-32 x 3/8, alum 1.00
8 10306 Screw, PH, 6-32 x 3/8, Phil, SS 1.00
9 10353 Screw, HH, M4 x .7 x 10mm, nylon 1.00
10 500258-0100  Label 50.00
11 500269-0200  Panel 75.00
12 500273-0100  Shield, EMI 3.00
13 10305 Enclosure 165.00
14 500596-0001 Display assembly 500.00
15 500274-0100  Spring, contact, EMI 15.00
16 38610-0622 Connector, # 6, Amp 2.00
17 500336-0100  Shield, EMI 17.00
18 30028-0226 Screw, PH, 6-32 x 1/4, Phil, SS 50
19 20701-0004 Washer, # 6, internal tooth, SS .50

Page 30 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



J26-60-€61"4nd

)11 ))

Y'S'N 1997-89186 uojbulysem ‘epeas
00Z3LS Wnos anusAy uequnuaju| ovey |
[euoneUIBIU| SWRSAS JUBWAINSEI|
ATGNISSY FUNSOTONI

¢ 310N3Y

ANITVNAQ 002L-ISN



MSI-7200 RFL Dyna-Link

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

NN NNNNNONONNDNONNNDN = = - = 42
COOOOOOOOODDDODIODIEDNZOOONDTEDONO 20 PRNOO B WN ===

Part Number

500560-0002
500260-0002
500261-0001
500230-0002
500264-0001
500347-0001
500349-0001
501735-0100
20701-0004
30028-0226
500620-0001
500200-0200
10761
20825-0041
12365
501977-0100
501946-0001
501940-0100
501935-0100
501892-0001
501938-0001
501937-0001
10298
500255-0001
500198-0200
10296
500193-0100
10306

10878
500195-0200
10441

11429
500575-0001
10596

10597

10598

10599
500194-0100
500194-0200
500194-0300
500194-0400
500194-0500
500194-0600
500194-0700
500194-0800
500194-0900
500194-1000

Description

Load cell assembly, 500 Ib

Load cell assembly, 1,000/2,000 Ib
Load cell assembly, 5,000 Ib

Load cell assembly, 10,000 Ib
Load cell assembly, 25,000 Ib
Load cell assembly, 50,000 Ib
Load cell assembly, 100,000 Ib
Serial number tag

Washer, #6, internal tooth, SS
Screw, PH, 6-32 x 1/4, Phil, SS
Ground strap

Gasket

Screw, PH, 6-32 x 3/16, Phil, SS
Screw, seal, PH, 8-32 x 1/8, Phil, SS
Screw, seal, PH, 8-32 x 3/8, Phil, SS
Label, warning, FCC / Canada
Antenna, PCA slot

Gasket, double sided

Plate, back

Transceiver, PCA RF

Cable assembly, data

Cable assembly, antenna

Battery, alkaline, C cell

Battery cap assembly

Gasket, front

Standoff, hex, 6-32 x 3/8, aluminum
Label, descriptive

Screw, PH, 6-32 x 3/8, Phil, SS
Screw, PH, 8-32 x 3/8, Phil, SS
Panel, front EMI

Washer, flat #6

Spacer, # 6, .375, w/locking PCB mounts
Display assembly

Spacer, 1/4 round, 8-32 x 1.58 (500 Ib thru 10K)

(
Spacer, 1/4 round, 8-32 x 1.86 (25K)
Spacer, 1/4 round, 8-32 x 2.43 (50K)
Spacer, 1/4 round, 8-32 x 2.78 (100K)
Label, capacity, 1,000 Ib /500 kg
Label, capacity, 2,000 Ib/1,000 kg
Label, capacity, 5,000 Ib/2,500 kg
Label, capacity, 10,000 Ib/5,000 kg
Label, capacity, 25,000 Ib/12,500 kg
Label, capacity, 50,000 Ib/25,000 kg
Label, capacity, 100,000 Ib/50,000 kg
Label, capacity, 500 Ib/250 kg
Label, capacity, 160,000 1b/80,000 kg
Label, capacity, 220,000 Ib/110,000 kg

List Price

865.00
865.00
950.00
1125.00
1400.00
1600.00
2500.00
1.50
.50

.50
10.00
3.50
1.00
2.00
2.50
25.00
70.00
6.00
35.00
395.00
15.00
85.00
2.50
30.00
3.50
1.00
35.00
1.00
1.00
25.00
1.00
1.00
475.00
7.00
12.00
13.00
14.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00

Page 32

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.






MSI-7200 RFH Dyna-Link RF Remote Control

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

SRR WY N N W\ W N W U —
CO®NONAWN 20 PPN A LN =

Part Number

11116
20975-0012
501906-0001
501914-0001
10727
501911-0100
10306
501912-0100
12407
501698-0002
11067
30013-0040
10441

10296
500596-0001
30028-0225
501915-0001
501892-0002
501976-0100

Description

Battery, alkaline, AA cell

Screw, PH, 4-40 x 3/16, Phil, SS
Battery, PCA

Cable assembly, antenna

Standoff, hex, 1/4 Lg, 6-32 x 1/4, aluminum
Enclosure, front

Screw, PH, 6-32 x 3/8, Phil, SS
Label, descriptive

Antenna, 916 MHz

Cable assembly, antenna, coax
Washer seal, 1/4 stat-o-seal
Washer, flat #6, SS

Washer, flat #6

Standoff, hex, 6-32 x 3/8, aluminum
Display assembly

Screw, PH, 6-32 x 3/16, Phil, SS
Cable assembly, interboard
Transceiver, PCA, 916 MHz

Label, FCC / Canada

List Price

3.00
1.00
75.00
10.00
1.00
85.00
1.00
55.00
25.00
75.00
2.00
.50
1.00
1.00
500.00
.50
15.00
395.00
15.00

Page 34

Prices suggested list F.O0.B. MSI plant,

Technical specifications subject to change without notice.
Seattle, Washington are subject to change without notice.



Y'S'N 199y-89186 uoibuiysepy ‘apess
00Z3LS WnoS anuaAy uequniaiu] oyzy |
|RUOREUIB}U| SWA)SAS JUBWSINSEa|\
JOYLNOD LONWIY 448 MNITVYNAQ
H44 00CL-ISW




MSI-3260 Challenger Assembly (Front View)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 21650-3030 Boot, switch 5.00
2 36150-0001 Switch 20.00
3 11205 Pin, clevis (fits C00524-0009 hook) 3.00
3 11206 Pin, clevis (fits C00524-0010 hook) 15.00
4 C00524-0002  Hook/clevis assembly, 250 - 2,000 Ib 250.00

11901 Latch, safety (fits C00524-0009 hook w/hole) 15.00

22680-0001 Latch, safety (fits C00524-0009 hook) 10.00
4 C00524-0010  Hook/clevis assembly, 5,000 - 10,000 Ib 400.00

11902 Latch, safety (fits C00524-0010 hook w/hole) 30.00

22680-0002 Latch, safety (fits C00524-0010 hook) 25.00
5 20030-0001 Pin, cotter (fits 11205 clevis pin) 1.00
5 20030-0002 Pin, cotter (fits 11206 clevis pin) 1.00
6 38610-0322 Connector, Amp 1.00
7 C00518-0001  Cable, power 50.00
8 30017-0024 Nut, hex, 3/8-16, SS 1.00
9 30016-0040 Washer, lock, split, 3/8, SS .50
10 30013-0049 Washer, flat, 3/8, SS .50
11 21025-0185 Screw, FH, 3/8-16 x 1-1/4, SS 1.50
12 500222-0100  Plate, keeper, 250 - 2,000 Ib 30.00
12 500221-0100  Plate, keeper, 5,000 - 10,000 Ib 30.00
13 501057-0001  Casting 450.00
14 38605-0004 Connector, Molex 1.00
15 C00505-0001  Gasket 5.00
16 D00646-0001  PCB, computer repair only
17 D00647-0002 PCB, display repair only
18 D00749-0001  Front panel assembly, w/switches 275.00
19 30026-0428 Screw, FH, 6-32 x 3/8, Phil, SS, black oxide .50
20 D00642-0005 Label, capacity, 250 Ib 4.00
20 D00642-0006 Label, capacity, 500 Ib 4.00
20 D00642-0007 Label, capacity, 1,000 Ib 4.00
20 D00642-0008 Label, capacity, 2,000 Ib 4.00
20 D00642-0009 Label, capacity, 5,000 Ib 4.00
20 D00642-0010  Label, capacity, 10,000 Ib 4.00
20 D00642-0012  Label, capacity, 125 kg 4.00
20 D00642-0013  Label, capacity, 250 kg 4.00
20 D00642-0014  Label, capacity, 500 kg 4.00
20 D00642-0015  Label, capacity, 1,000 kg 4.00
20 D00642-0016  Label, capacity, 2,500 kg 4.00
20 D00642-0017  Label, capacity, 5,000 kg 4.00

500971-**** Retrofit Front Panel to MSI-3360 775.00

specify capacity required
Page 36 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



14240 Interurban Avenue South STE 200
Seattle, Washington 98168-4661 U.S.A.

MSI-3260 CHALLENGER
ASSEMBLY (Front View)
Measurement Systems International

PUB. 1940992



MSI-3260 Challenger Assembly (Back View)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 C00507-0004  Load cell assembly, 250/500 Ib 695.00
1 C00507-0005 Load cell assembly, 1,000/2,000 Ib 695.00
1 C00508-0002 Load cell assembly, 5,000/10,000 Ib 850.00
2 10584 Eye, lifting (250 - 2,000 Ib) 45.00
2 500898-0100  Eye, lifting (5,000 - 10,000 Ib) 100.00
3 21025-0120 Screw, FH, 1/4-20 X 5/8, allen, SS 1.00
4 500608-0100  Washer, Foam, .75 X 1.63 2.00
5 20005-0006 Cap, receptcle 1.00
6 20005-0002 Receptacle 12.00
7 B00482-0002  Bracket assembly, battery clip 50.00
8 B00489-0001 Pad 3.00
9 C00502-0001  Battery assembly 95.00
Page 38 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



€3y
5]

w
22298
9253
EILng“S

og<§
(_)>-‘<2§:g
85%2@
NZ=BEZ
N EE]
DHEIS
SZ258




MSI-3260/3360 Challenger Battery Charger Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 35945-0001 Module, charger, 120 VAC 100.00

1 35945-0004 Module, charger, 240 VAC 100.00

2 C00488-0001  Clip, battery terminal 5.00

3 C00503-0001  Enclosure 25.00
C00504-0001  Battery charger assembly 115V 140.00

C00504-0004  Battery charger assembly 230 V 140.00

C00504-0003  Battery charger assembly 100 VAC 175.00

Page 40 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-3260/3360 CHALLENGER

BATTERY CHARGER ASSEMBLY

Measurement Systems International

14240 Interurban Avenue South STE 200
PUB. 1960992 Seattle, Washington 98168-4661 U.SA.



MSI-3360 Challenger 2 Assembly (Front View)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

NN RNDNDR NN NN RN N = — b 4 & &
C00O000OC00O00O0O00VWANDITRARWN2OOONOOTAWN =

Part Number

11182

11181

10870

10441
20701-0004
10296
500885-0001
30028-0226
38610-0322
10876
38605-0004
C00505-0001
30042-0019
30017-0015
10761
500881-0001
10822
500860-0001
30026-0431
500876-0100
500876-0200
500876-0300
500876-0400
500876-0500
500876-0600
500876-1400
500876-0800
500876-0900
500876-1000
500876-1100
500876-1200
500876-1300
500876-1500

Description

Screw, HH, 6-32 x 1/4, SS, black oxide
Screw, HH, 6-32 x 5/8, SS, black oxide
Washer, seal, #6

Washer, flat, #6, SS

Washer, internal tooth, #6, SS
Standoff, hex, 6-32 x 3/8, aluminum
PCB, computer

Screw, PH, 6-32 x 1/4, Phil, SS
Connector, 3 position, Amp

Nut, push, 5/16

Connector, 4 position, Molex
Gasket, front panel

Spacer, hex, 6-32 x 5/16, aluminum
Nut, hex, 6-32, SS

Screw, PH, 6-32 x 3/16, Phil, SS
PCB, display/keyboard

Switch

Front panel assembly

Screw, FH, 6-32 x 5/8, Phil, SS, black oxide
Label, capacity, 250 Ib

Label, capacity, 500 Ib

Label, capacity, 1000 Ib

Label, capacity, 2000 Ib

Label, capacity, 5000 Ib

Label, capacity, 10,000 Ib

Label, capacity, 15,000 Ib

Label, capacity, 125 kg

Label, capacity, 250 kg

Label, capacity, 500 kg

Label, capacity, 2500 kg

Label, capacity, 5000 kg

Label, capacity, 1000 kg

Label, capacity, 7000 kg

List Price

3.00
3.00
2.00
1.00
.50
1.00
375.00
.50
1.00
.50
1.00
5.00
1.00
.50
1.00
325.00
5.00
100.00
.50
9.00
9.00
9.00
9.00
9.00
9.00
9.00
9.00
9.00
9.00
9.00
9.00
9.00
9.00

Page 42

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-3360 CHALLENGER 2
ASSEMBLY (FRONT VIEW)
14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A

Measurement Systems International

PUB.240-05-94




MSI-3360 Challenger 2 Assembly (Back View)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number
1
1
2

[N T ) Y S G G G G G G G G G G Y
T 00O VO RrAON A0 0O®NOIOO A~ WO

Part Number
11205

11206
C00524-0009
11901
22680-0001
C00524-0010
11902
22680-0002
20030-0001
20030-0002
10875
500953-0001
500954-0001
500956-0001
30017-0024
30016-0040
30013-0049
D00640-0100
500222-0100
500221-0100
10584
500898-0100
21025-0185
500608-0100
21025-0120
500947-0100
10876
20005-0006
B00482-0002
30028-0226
B00489-0001
C00502-0001

Description

Pin, clevis (fits C00524-0009 hook)
Pin, clevis (fits C00524-0010 hook)
Hook/clevis assembly, 250 - 2,000 Ib
Latch, safety (fits C00524-0009 hook w/hole)
Latch, safety (fits C00524-0009 hook)
Hook/clevis assembly, 5,000 - 10,000 Ib
Latch, safety (fits C00524-0010 hook w/hole)
Latch, safety (fits C00524-0010 hook)
Pin, cotter (fits 11205 clevis pin)

Pin, cotter (fits 11206 clevis pin)
Connector, feed-thru

Load cell assembly, 250/500 Ib

Load cell assembly, 1,000/2,000 Ib
Load cell assembly, 5,000/10,000 Ib
Nut, hex, 3/8-16, SS

Washer, lock, split, 3/8, SS

Washer, flat, 3/8, SS

Casting

Plate, keeper, 250 - 2,000 Ib

Plate, keeper, 5,000 - 10,000 Ib

Eye, lifting, 250 - 2,000 Ib

Eye, lifting, 5,000 - 10,000 Ib

Screw, FH, 3/8-16 x 1-1/4, allen, SS
Washer, foam

Screw, FH, 1/4-20 x 5/8, allen, SS
Tube, power cable

Nut, push, 5/16

Cap, receptacle

Bracket assembly, battery clip
Screw, PH, 6-32 x 1/4, Phil, SS

Pad, battery

Battery assembly

List Price
3.00
15.00
250.00
15.00
10.00
400.00
30.00
25.00
1.00
1.00
5.00
595.00
595.00
750.00
1.00
.50

.50
350.00
30.00
30.00
45.00
100.00
1.50
2.00
1.00
15.00
.50
1.00
50.00
.50
3.00
95.00

Page 44

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



0L

Sh)
/)

A
)

{\ *T‘:)
/
~ \

/X

‘ POOO Y
NG

A\@u -

)))‘
om0 )
Neve

&




MSI-3360 Challenger 2 Assembly (15,000 Ib)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 23649-0012 Shackle 12 ton 150.00

2 501281-0001 Load cell assembly, 15,000 Ib/7,000 kg 1025.00

3 501285-0001  Swivel hook clevis assembly 900.00
11903 Latch, safety (fits 501285-0001 hook) 35.00

4 11463 Pin clevis, 1.25 dia X 4, steel plated 40.00

5 10751 Cotter pin, 3/16 X 2 1.00

6 501288-0100  Casting 400.00

7 21025-0120 Screw, 1/4-20 x 5/8, Allen, SS 1.00

Page 46 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.






MSI-4260 Port-A-Weigh Front Casting Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description

1&2 D00552-xxxx  PCB, computer/diplay LCD sets only
1&2 D00552-xxxx  PCB, computer/display, LED sets only
3 B00424-0003 O-Ring

4 C00384-0001  Window

5 30038-0003 Screw, SH, 3/8-16 x 1, SS, drilled

6 B00430-0001  Plug, access port (silver)

6 B00430-0002  Plug, access port (black)

7 22000-2016 O-Ring

8 36151-0007 Switch, red

8 36151-0008 Switch, black

9 C00385-0001  Label, switch ID (TARE UP/DN)

9 C00385-0003  Label, switch ID (ON/OFF, ZERO)

9 C00385-0004 Label, switch ID (TARE SET/CLR)

10 C00387-0001  Label, capacity, 500 Ib/ 250 kg

10 C00387-0002 Label, capacity, 2,000 Ib/ 1,000 kg

10 C00387-0003 Label, capacity, 5,000 Ib/ 2,500 kg

10 C00387-0004  Label, capacity, 10,000 Ib/ 5,000 kg
10 C00387-0005 Label, capacity, 20,000 Ib/ 10, 000 kg
10 C00387-0006  Label, capacity, 30,000 Ib/ 15,000 kg
10 C00387-0007  Label, capacity, 50,000 Ib/ 25,000 kg
10 C00387-0008  Label, capacity, 70,000 Ib/ 35,000 kg
10 C00387-0009 Label, capacity, 100,000 Ib/ 50,000 kg
11 D00546-0003 Casting

12 20810-0183 Screw, SH, 3/8-16 x 1, SS

13 22000-0009 O-Ring

14 30575-0005 Fuse, 1/2 amp, 125V, axial, subminiature
15 B00424-0001 O-Ring

16 22200-0014 Gasket, connector

17 38412-KO6P  Connector

18 D00625-0001  Plate, mounting (marine)

19 C00433-0001  Plate, mounting (industrial)

xxxx Due to the large number of possible configurations of this assembly, please contact factory for assistance.

List Price

1100.00
1100.00
10.00
30.00
13.50
40.00
40.00
.50
35.00
35.00
16.00
25.00
25.00
30.00
30.00
30.00
30.00
30.00
30.00
30.00
30.00
30.00
250.00
1.00
.50
3.50
10.00
2.50
25.00
350.00
65.00

Page 48

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



"¥'S'N 1991-89186 uobulysep ‘epess
00Z 41S YinoS anuaAy ueqiniaju] 0¥yl
[BUONERUIBIU| SWRISAS JUIWIBINSEI
ATEINISSY DNILSYI LNOJ4
HOIIM-V-140d 09¢-ISW

266061 8Nd



MSI-4260 Port-A-Weigh Mid-Section Assembly 500 thru 10,000 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

[ G G G G G G G G G O (O B (O ]
N2 OO0OO0O0OO0OO0O0OoOWPLNPOU A -

Part Number

B00410-0003
D00825-0100
500786-0100
500783-0100
B00413-0002
500716-0100
20800-0120
501290-0100
11458

11460
C00401-0005
C00401-0001

Description

Seal

Casting

Collar, top (2 pcs.)

Link, upper

Eye, lifting, 500/2,000 Ib

Eye, lifting, 5,000/10,000 Ib

Screw, BH, 1/4-20 x 5/8, SS

Bolt, clevis

Nut, hex

Cotter pin

Load cell assembly, 500 Ib (industrial)
Load cell assembly, 500 Ib (marine)

List Price

35.00

295.00
20.00/ea
175.00
125.00
125.00

1.00

15.00

1.00

1.00

factory quote
factory quote

D00801-0004 Load cell assembly, 2,000 Ib (industrial) 800.00
D00801-0012  Load cell assembly, 2,000 Ib (marine) 825.00
D00801-0005 Load cell assembly, 5,000 Ib (industrial) 800.00
D00801-0013  Load cell assembly, 5,000 Ib (marine) 825.00
D00801-0006  Load cell assembly, 10,000 Ib (industrial) 1175.00
D00801-0014  Load cell assembly, 10,000 Ib (marine) 1210.00
23600-0001 Filter 5.00
500787-0001  Hook assembly, swivel, 500/2000 b 725.00

11906 Latch, safety (fits 500787-0001 hook w/hole) 25.00

10767 Latch, safety (fits 500787-0001 hook) 20.00

12 500297-0001 Hook assembly, swivel, 5,000/10,000 Ib 750.00
11902 Latch, safety (fits 500297-0001 hook w/hole) 30.00
22680-0002 Latch, safety (fits 500297-0001 hook) 25.00

13 B00514-0001  Ground strap 10.00
14 10669 Screw, drive, #6 x .25, SS .50
15 20701-0004 Washer, internal tooth, 6-32 .50
16 20975-0027 Screw, PH, 6-32 x 1/4, Phil, SS .50
17 500760-0100  Collar 35.00
18 20810-0120 Screw, SH, 1/4-20 x 5/8, SS 1.00
19 20950-0117 Screw set, 1/4-20 x 3/8, SS .50
Page 50 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.






MSI-4260 Port-A-Weigh Mid-Section Assembly 20 & 30,000 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 B00514-0001  Ground strap 10.00
2 20810-0120 Screw, SH, 1/4-20 x 5/8, SS 1.00
3 C00410-0001  Collar, lower 95.00
4 D00826-0100  Casting 285.00
5 20810-0123 Screw, SH, 1/4-20 x 1, SS 1.00
6 500345-0100  Eye, lifting 300.00
7 C00436-0001  Seal 3.50
8 30017-0020 Nut, hex, 1/4-20, Nyloc SS .50

8A 30016-0038 Washer split .50
9 500359-0002 Load cell assembly 1500.00
10 23600-0001 Filter 5.00
12 501291-0100  Bolt 30.00
12A 11459 Nut 5.00
12B 10751 Cotter pin 1.00
13 10669 Screw,drive, #6 x .25, SS 50
14 C00409-0001  Seal 50.00
15 20975-0027 Screw, PH, 6-32 x 1/4, Phil, SS .50
16 20701-0004 Washer, internal tooth, #6, SS .50
17 500729-0001 Hook assembly, swivel, 20,000 Ib 1300.00
11904 Latch, safety (fits 500729-0001 hook w/hole) 35.00

10699 Latch, safety (fits 500729-0001 hook) 35.00

17 500729-0002 Hook assembly, swivel, 30,000 Ib 1600.00
11905 Latch, safety (fits 500729-0002 hook w/hole) 60.00

10700 Latch, safety (fits 500729-0002 hook) 60.00

18 20950-0167 Screw set, 3/8-24 x 3/4, SS 1.00
Page 52 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



12A

MSI-4260 PORT-A-WEIGH

MID-SECTION ASSEMBLY 20 AND 30,000 LBS
Measurement Systems Intemational

14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S.A



MSI-4260 Port-A-Weigh Mid-Section Assembly 50 & 70,000 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

a4 a4
PP ToPOONNOO A WN

14
(not shown)
(not shown)
(not shown)

(not shown)

Part Number

20975-0027
20810-0120
C00410-0001
D00826-0200
500624-0001
20810-0126
500678-0100
C00416-0002
20800-0123
30017-0020
30016-0038
23600-0001
C00409-0001
B00514-0001
20701-0004
10669

10540
23650-0040
500782-0001
10744
500782-0002
10745

Description

Screw, PH, 6-32 x 1/4, Phil, SS
Screw, SH, 1/4-20 x 5/8, SS
Collar

Casting

Load cell assembly

Bolt, SH, 1/4-20 x 1-1/2, SS
Collar

Collar (pre 1992 Only)

Screw, BH, 1/4-20 x 1, SS

Nut, hex, 1/4-20, SS

Washer split

Filter

Seal

Ground strap

Washer, internal tooth, #6, SS
Screw, drive, #6 x .25, SS
Shackle, 25T, 50,000 Ib
Shackle, 40T 70,000 Ib

Hook, swivel, 50,000 lb

Latch, safety (fits 500782-0001 hook)
Hook, swivel, 70,000 lb

Latch, safety (fits 500782-0002 hook)

List Price

.50

1.00
95.00
350.00
2375.00
1.00
75.00
300.00
1.00

.50

.50

5.00
50.00
10.00
.50

.50
350.00
695.00
3325.00
70.00
4895.00
100.00

Page 54

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-4260 PORT-A-WAY

MID-SECTION ASSEMBLY - 50 & 70,000 LB

Measurement Systems International

14240 Interurban Avenue South STE200
PUB.200-09-92C Seattle, Washington 98168-4661 U.S.A



MSI-4260 Port-A-Weigh Battery Casting Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

ocRLw~Noo s 0N =

10
11
12

Part Number

D00559-0004
B00424-0002
38920-0001

30055-0004

500016-0100
500016-0200
D00824-0100
C00517-0001
A00091-0100
20975-0044

B00418-0002
B00418-0001
D00823-0100
C00601-0100

Description

Battery assembly

O-Ring

Plug, banana

Nut, jam, 5/16-24, hex, SS
Cable assembly, power (industrial)
Cable assembly, power (marine)
Casting

Connector, battery

Latch

Screw

Hinge, rubber

Plate, hinge

Casting

Label

Complete Battery Casting Assembly

D00827-0001
D00827-0002
D00762-400

Battery casting assembly (industrial)
Battery casting assembly (marine)

Battery casting assembly, 115 or 230 VAC, 50/60 Hz

List Price

956.00
10.00
3.50
.50
45.00
100.00
175.00
20.00
30.00
1.00
5.00
10.00
75.00
12.00

425.00
475.00
625.00

Page 56

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



PUB.201-09-92C

South STE200

Seattle, Washington 98168-4661 U.S.A

ement Systems International

MSI-4260 PORT-A-WEIGH
BATTERY CASTING ASSEMBLY

14240 Interurban Avenue

Measur



MSI-4260 Port-A-Weigh Battery Charger Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 23595-0001 Lens w/grommet (red) 5.00
2 B00425-0001  Cord, power 7.00
3 20060-0001 Strain relief 1.00
4 30042-0033 Spacer, threaded, 8-32 X 1/4, hex, alum .50
5 30028-0263 Screw, PH, 10-32 x 3/8, Phil, SS 50
6 22081-0001 Bumper 5.00
7 30017-0016 Nut, hex, 8-32, SS 50
8 D00566-0001  Housing,117 VAC 65.00
9 D00589-0003 PCB, charger ,117 VAC 215.00
9 D00589-0004 PCB, charger, 230 VAC 245.00
10 R10 (for reference only)

11 37301-0014 Lamp (if R10 = 18 ohms) 7.00
11 37002-0001 LED, red (if R10 = 620 ohms) 7.50
12 21202-0001 Spacer, threaded, 10-32 x 9/16, hex, alum 2.00
13 21201-0024 Spacer, threaded, 6-32 X 1/4, hex, brass 2.00
14 38920-0001 Plug, banana 3.50
15 30026-0263 Screw, FH, 10-32 x 3/8, Phil, SS 1.00
16 D00566-0006  Housing 42.00
17 C00422-0001  Label 7.00
502221-0001 Universal battery charger 115 /230 VAC, 50/60 Hz (North American
plug configuration is standard, contact factory if alternate is required)  245.00
Page 58 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



'V'S'N 1997-89186 uoibulysem ‘spess SN
002 31S Yinog anushy ueqiniaju] Oygy|
|euoneulalu] mEm_whm Juswialnses|y
AT8NISSY ¥39YVHI Ad31lve
HOIIM-V-130d 09Z¥-ISW

91




MSI-4260 Port-A-Weigh Universal Battery Charger Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 12747 Power cord, North America 25.00

1 12754 Power cord, United Kingdom (not shown) 25.00

1 12752 Power cord, European (not shown) 25.00

1 12753 Power cord, Australian (not shown) 25.00

2 12745 Universal power adapter 125.00

3 21000-0029  Screw, RH 6-32 x 3/8, Sltd., SS .50

4 20701-0004  Washer internal tooth #6, SS .50

5 10161 Lug, solder #6, copper 1.00

6 501932-0100 Housing battery plug 35.00

7 38920-0001 Plug, banana 3.50

8 502227-0100 Label, descriptive 12V 10.00

502221-0001 Universal battery charger 115/230 VAC, 50/60 Hz (North American
plug configuration is standard, contact factory if alternate is required)
245.00
Page 60 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



V'S'N 199-89186 uojBulysem ‘spess
00Z3LS Wnog anusAy ueqinsaiu| ovey |
[euoReUIBIU| SWRISAS JuswaInseay

HIOUVHO AHILLYE TYSHIAINN
HOIIM-V-1H0d 092¥-ISW




MSI-4300 Porta-Weigh Plus Front Casting Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

_
PV A~AODNN OO ~NOOCODO MDA SADMAEDMIASADMIAEDMDdOND -

XXXx contact factory

Part Number

10243
500121-0100
B00430-0002
500032-0100
500032-0200
500032-0300
500032-0400
500032-0500
500032-0600
500032-0700
500032-0800
500032-0900
500032-1000
500032-1100
500032-1200
500032-1300
500032-1400
500032-1500
500032-1600
500032-1700
500032-1800
500032-1900
500032-2000
500033-0100
501409-0001
501409-0002
500004-0100
500156-0100
500156-0200
30017-0015
500054-0100
500031-0100
30028-0228
30013-0040
500167-XxxX
10127

10175
30028-0230

Description

Wire, acidwashed
Bracket, wire mount

Plug, access

Label, capacity, 2501b
Label, capacity, 125kg
Label, capacity, 5001b
Label, capacity, 250kg
Label, capacity, 1,0001b
Label, capacity, 500 kg
Label, capacity, 2,0001b
Label, capacity, 1,000kg
Label, capacity, 5,0001b
Label, capacity, 2,500kg
Label, capacity, 10,000 b
Label, capacity, 5,000 kg
Label, capacity, 20,000 b
Label, capacity, 10,000 kg
Label, capacity, 30,000 b
Label, capacity, 15,000kg
Label, capacity, 50,000 b
Label, capacity, 25,000 kg
Label, capacity, 70,000 b
Label, capacity, 35,000 kg
Label

Switch assembly 5 position
Switch assembly 7 position
Casting

O-Ring

O-Ring

Nut, hex, 6-32, SS
Window, infrared

Window, LCD

Screw, PH, 6-32 x 3/8, Phil, SS
Washer, flat, #6, SS
LCD/EMI shield assembly
Mount, shock

Spacer, eyelet, .183 OD X .310 1D
Screw, PH, 6-32 x 1/2, Phil, SS

List Price

1.00
25.00
40.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
23.00

175.00
225.00
275.00
15.00
15.00
.50
65.00
60.00
.50

.50
1425.00
1.00
1.00
.50

Page 62

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-4300 PORT-A—WEfIGH PLUS
nt Systems International

FRONT CASTING ASSEMBLY

Measureme
14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S.A

PUB.203-09-92



MSI-4300 Porta-Weigh Plus Mid-Section Assembly 500 thru 10,000 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 20975-0027 Screw, PH, 6-32 x 1/4, Phil, SS .50
2 20701-0004 Washer, internal tooth, #6, SS .50
3 B0O0410-0003  Seal 35.00
5 500786-0100  Collar, top (2 pcs.) 20.00/ea
6 B00413-0002  Eye, lifting 500/2,000 Ib 125.00
6 500716-0100  Eye, lifting 5,000/10,000 Ib 125.00
7 20800-0120 Screw, BH, 1/4-20 x 5/8, SS 1.00
8 500783-0100  Link, upper 175.00
9 500176-0001 Load cell assembly, 500 Ib factory quote
9 500176-0002  Load cell assembly, 2,000 Ib 800.00
9 500176-0003  Load cell assembly, 5,000 lb 800.00
9 500176-0004  Load cell assembly, 10,000 Ib 1175.00
10 11458 Nut 1.00

10A 11460 Cotter pin 1.00
11 500010-0100  Casting 300.00
12 23600-0001 Filter 5.00
13 501290-0100  Bolt 15.00
14 10669 Screw, drive, #6 x .25, SS 50
15 B00514-0001  Ground strap 10.00
16 500760-0100  Collar 35.00
17 20810-0120 Screw, SH, 1/4-20 x 5/8, SS 1.00
18 500787-0001 Hook assembly, swivel, 500/2,000 Ib 725.00
11906 Latch, safety (fits 500787-0001 hook w/hole) 25.00

10767 Latch, safety (fits 500787-0001 hook) 20.00

18 500297-0001  Hook assembly, swivel, 5,000/10,000 Ib 750.00
11902 Latch, safety (fits 500297-0001 hook w/hole) 30.00
22680-0002 Latch, safety (fits 500297-0001 hook) 25.00

19 20950-0117 Screw set, 1/4-20 x 3/8, SS .50
Page 64 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MID-SECTION ASSEMBLY 500 THRU 10,000 LB

Measurement Systems International

MSI-4300 PORTA-WEIGH PLUS

)=

&

14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A.

PUB.204-09-92C



MSI-4300 Porta-Weigh Plus Mid-Section Assembly 20 & 30,000 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 500729-0001 Hook assembly, swivel, 20,000 Ib 1300.00
11904 Latch, safety (fits 500729-0001 hook w/hole) 35.00

10699 Latch, safety (fits 500729-0001 hook) 35.00

1 500729-0002 Hook assembly, swivel, 30,000 Ib 1600.00
11905 Latch, safety (fits 500729-0002 hook w/hole) 60.00

10700 Latch, safety (fits 500729-0002 hook) 60.00

2 500111-0100  Collar 55.00
3 500009-0100  Casting 300.00
4 20810-0123 Screw, SH, 1/4-20 x 1, SS 1.00
5 500345-0100  Eye, lifting 300.00
6 C00436-0001  Gasket 3.50
7 30017-0020 Nut, hex, 1/4-20, SS .50
7A 30013-0046 Washer .50
8 500358-0001 Load cell assembly 1500.00
10 23600-0001 Filter 5.00
11 500218-0100  Seal 55.00
12 501291-0100  Bolt 30.00
12A 11459 Nut 5.00
12B 10751 Cotter Pin 1.00
13 10669 Screw, drive, #6 x .25, SS .50
14 B00514-0001  Ground strap 10.00
15 20810-0155 Screw, SH, 5/16-18 x 1, SS 1.50
16 20975-0027 Screw, PH, 6-32 x 1/4, Phil, SS .50
17 20701-0004 Washer, internal tooth, #6, SS .50
18 20950-0167 Screw set, 3/8-24 x 3/4, SS 1.00
Page 66 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



/)

14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A

MID-SECTION ASSEMBLY - 20 AND 30,000 LB
Measurement Systems International

MSI-4300 PORTA-WEIGH PLUS

=

)

PUB.205-09-92C



MSI-4300 Porta-Weigh Plus Mid-Section Assembly 50 & 70,000 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

©COoONOOTM~WN =

10

11
(not shown)
(not shown)
(not shown)

(not shown)

Part Number

20701-0004
20810-0155
500111-0100
500110-0100
20810-0183
500178-0001
23600-0001
500218-0100
10669
B00514-0001
20975-0027
10540
23650-0040
500782-0001
10744
500782-0002
10745

Description

Washer, internal tooth, #6, SS
Screw, SH, 5/16-18 x 1, SS
Collar

Casting

Screw, SH, 3/8-16 x 1, SS
Load cell assembly

Filter

Seal

Screw, drive, #6 x .25, SS
Ground strap

Screw, PH, 6-32 x 1/4, Phil, SS
Shackle, 25T, 50,000 Ib
Shackle, 40T, 70,000 Ib
Hook, swivel, 50,000 Ib

Latch, safety (fits 500782-0001 hook)

Hook, swivel, 70,000 Ib

Latch, safety (fits 500782-0002 hook)

List Price

.50

1.50
55.00
375.00
1.00
2375.00
5.00
55.00
.50
10.00
.50
350.00
695.00
3325.00
70.00
4895.00
100.00

Page 68

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



/S \ S
£ £

(7

it 4

= G
\/

U

[((((

¥ L Vr
&
&

\([((((((

W

S
v,ﬁ ®
NN

MID-SECTION ASSEMBLY - 50 & 70,000 LB

Measurement Systems International
14240 Interurban Avenue South STE200

MSI-4300 PORT-A-WEIGH PLUS
Seattle, Washington 98168-4661 U.S.A.

PUB.206-09-92



MSI-4300 Porta-Weigh Plus Battery Casting Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number

500095-0100
500156-0100
20810-0183

500014-0200
500027-0002
500118-0100

OO wWwN

Description

Label

O-Ring

Screw, SH, 3/8-16 x 1, SS
Back casting

Tube assembly, battery
Battery tube guide

Complete Battery Casting Assembly

500155-0002

Battery casting assembly

List Price

5.00
15.00
1.00
250.00
110.00
20.00

375.00

Page 70

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-4300 PORT-A-WEIGH PLUS
BATTERY CASTING ASSEMBLY

Measurement Systems International
14240 Interurban Avenue South STE200
PUB.207-09-92C Seattle, Washington 98168-4661 U.S.A



MSI-4300 Porta-Weigh Plus Bulkhead Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 10184 Collar, rolled, Nyltite, #6 1.00

2 10162 Washer, phenolic .188 ID x 1.40 OD 2.50

3 20965-0029 Screw, PH, 6-32 x 3/8, sltd, brass 50

4 500030-0100  Clip, spring 10.00

5 21055-0004 Nut, hex, 6-32, brass 50

6 500025-0100  Bulkhead 65.00

7 500113-0100 Cable assembly 35.00
500055-0001 Bulkhead assembly 175.00

Page 72 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



PUB.208-0092

MSI-4300 PORTA-WEIGH PLUS
BULKHEAD ASSEMBLY
Measurement Systems International
14240 Interurban Avenue South STE 200
Seattle, Washington 98168-4661 U.S.A.



MSI-6260 Trans-Weigh Front Casting Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

S S N U W U O —
ONVNODTRARODDRON 20 ©ONOOTAWNN —

Part Number

B00510-0001
B00508-0001
36208-0001
21905-0001
B00430-0002
38364-0001
21059-0001
D00668-0100
38081-0001
23615-0002
B00515-0100
33751-0002
B00509-0001
C00525-0001
C00525-0002
C00525-0003
C00525-0004
C00525-0005
D00689-0100
D00673-0001
38017-0001
30454-0004
33894-0001

Description

Cable assembly
Switch assembly
Switch only

Washer, seal

Plug, access port
Connector, coaxial
Nut, dress

Casting

Terminal, quick disconnect
Mount, shock

Ground strap

Antenna

Cable assembly

PCB, transmitter (D03)
PCB, transmitter (D05)
PCB, transmitter (D01)
PCB, transmitter (D04)
PCB, transmitter (D02)
Plate, mounting

PCB, controller
Terminal, ring

Diode

Core, ferrite

List Price

40.00
90.00
25.00
15.00
40.00
15.00
2.50
250.00
2.50
obsolete
7.00
50.00
25.00
375.00
375.00
375.00
375.00
375.00
40.00
obsolete
3.00
1.00
5.00

Page 74

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



PUB.20909-92

MSI-6260 TRANS-WEIGH
FRONT CASTING ASSEMBLY
Measurement Systems International
14240 Interurban Avenue South STE 200
Seattle, Washington 98168-4661 U.S.A.



MSI-6260 Trans-Weigh Front Casting Assembly (11-98 & On)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

_
ONOORWN 20 PPN OT AW =

Part Number

C00667-0003
11727

11726
501568-0001
21905-0001
B00430-0002
38364-0001
501575-0100
38081-0001
D00668-0200
12410
B00515-0100
501539-0100
501488-0001
11639
500885-0001
30042-0019
501650-0002

Description

Mount, shock bracket assembly
Bracket angle

Clamp, cable

Switch assembly

Washer, seal

Plug, access port

Connector coaxial

Label, descriptive

Terminal, quick disconnect
Casting

Mount, shock w/insert

Ground strap

Plate, mounting

PCB, Adapter

Standoff, hex, .25, SS, 6-32
PCB, Module

Spacer, hex, 6-32 x 5/16, aluminum
Software Kit H8-532

List Price

20.00
2.50
1.00

125.00

15.00

40.00

15.00

20.00
2.50

275.00

25.00
7.00

50.00

200.00
2.50
375.00
1.00
100.00

Page 76

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



66-£0-£92"40d

V'S 199v-89186 uoibuiysem ‘opiess
00Z3LS WpnoS snuaAy ueqinisju| oy |
|eUOREWB}U| SWa)SAS JUBWaINSES|Y

NO 8 86/11 ASSY ONLLSYD LNOYHS
HOIIM-SNV YL 0929-ISW




MSI-6260 Trans-Weigh Front Casting Assembly (11-98 & On)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 33751-0002 Antenna 50.00
2 B00510-0001  Cable assembly 50.00
3 C00525-0001  PCB, transmitter (D03) 375.00
3 C00525-0002 PCB, transmitter (D05) 375.00
3 C00525-0003 PCB, transmitter (DO1) 375.00
3 C00525-0004 PCB, transmitter (D04) 375.00
3 C00525-0005 PCB, transmitter (D02) 375.00
4 30042-0009 Spacer, hex, 4-40 x 5/8, aluminum 1.00
5 30454-0004 Diode 1.00
6 38017-0001 Terminal. ring solder 3.00
7 33894-0001 Ferrite 5.00
8 B00509-0001  Cable assembly 25.00
Page 78 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



Y'S'N 1997-89186 uoibulysepm ‘apeas

00Z3LS WYnog anuaAy ueqinisiul 02y |

66-£0-292" @d |euUOREWIB)U| SWaISAS JuBwBINSEB|\
NO 8 86/1 1 AT9W3SSY ONILSYO LNOYH

HOIIM-SNY Y1 09¢9-ISW




MSI-6260 Trans-Weigh Mid-Section Assembly 500 thru 10,000 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 B00410-0003  Seal, lower 35.00
3 D00825-0100  Casting 295.00
4 500786-0100  Collar, top (2 pcs.) 20.00
5 500783-0100  Link, upper 175.00
6 B00413-0002  Eye, lifting 500/2,000 Ib 125.00
6 500716-0100  Eye, lifting 5,000/10,000 Ib 125.00
7 20800-0120 Screw, BH, 1/4-20 x 5/8, SS 1.00
9 501290-0100  Bolt, clevis 15.00

9A 11458 Nut, hex 1.00
9B 11460 Cotter pin 1.00
10 C00401-0022  Load cell assembly, 500 Ib factory quote
10 D00801-0020  Load cell assembly, 2,000 Ib 800.00
10 D00801-0021  Load cell assembly, 5,000 Ib 800.00
10 D00801-0022  Load cell assembly, 10,000 Ib 1175.00
11 23600-0001 Filter 5.00
12 500787-0001 Hook assembly, swivel, 500/2,000 Ib 725.00
11906 Latch, safety (fits 500787-0001 hook w/hole) 25.00

10767 Latch, safety (fits 500787-0001 hook) 20.00

12 500297-0001  Hook assembly, swivel, 5,000/10,000 Ib 750.00
11902 Latch, safety (fits 500297-0001 hook w/hole) 30.00
22680-0002 Latch, safety (fits 500297-0001 hook) 25.00

13 B00514-0001  Ground strap 10.00
14 10669 Screw, drive, #6 x .25, SS 50
15 20701-0004 Washer, internal tooth, 6-32 .50
16 20975-0027 Screw, PH, 6-32 x 1/4, Phil SS .50
17 500760-0100  Collar 35.00
18 20810-0120 Screw, SH, 1/4-20 x 5/8, SS 1.00
19 20950-0117 Screw set, 1/4-20 x 3/8, SS .50
Page 80 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-6260 TRANS-WEIGH

MID-SECTION ASSEMBLY 500 THRU 10,000 LB
Measurement Systems International

14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S.A



MSI-6260 Trans-Weigh Mid-Section Assembly 20 & 30,000 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 B00514-0001  Ground strap 10.00
2 20810-0120 Screw, SH, 1/4-20 x 5/8, SS 1.00
3 C00410-0001  Collar, lower 95.00
4 D00826-0100  Casting 285.00
5 20810-0123 Screw, SH, 1/4-20 x 1, SS 1.00
6 500345-0100  Eye, lifting 300.00
7 C00436-0001  Seal, upper 3.50
8 30017-0020 Nut, hex, 1/4-20, SS .50

8A 30016-0038 Washer split .50
9 500359-0004  Load cell assembly 1500.00
10 23600-0001 Filter 5.00
12 501291-0100  Bolt 30.00
12A 11459 Nut 5.00
12B 10751 Cotter pin 1.00
13 10669 Screw, drive, #6 x .25, SS 50
14 C00409-0001  Seal, lower 50.00
15 20975-0027 Screw, PH, 6-32 x 1/4, Phil, SS .50
16 20701-0004 Washer, internal tooth, #6, SS .50
17 500729-0001 Hook assembly, swivel 20,000 Ib 1300.00
11904 Latch, safety (fits 500729-0001 hook w/hole) 35.00

10699 Latch, safety (fits 500729-0001 hook) 35.00

17 500729-0002 Hook assembly, swivel 30,000 Ib 1600.00
11905 Latch, safety (fits 500729-0002 hook w/hole) 60.00

10700 Latch, safety (fits 500729-0002 hook) 60.00

18 20950-0167 Screw set, 3/8-24 x 3/4, SS 1.00
Page 82 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



12A

MSI-6260 TRANS-WEIGH

MID-SECTION ASSEMBLY 20 AND 30,000 LBS
Measurement Systems Intemational

14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S.A.



MSI-6260 Trans-Weigh Mid-Section Assembly 50 & 70,000 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

a4 a4
PP ToPOONNOO A WN

14
(not shown)
(not shown)
(not shown)

(not shown)

Part Number

20975-0027
20810-0120
C00410-0001
D00826-0200
500624-0004
20810-0126
500678-0100
C00416-0002
20800-0123
30017-0020
30016-0038
23600-0001
C00409-0001
B00514-0001
20701-0004
10669

10540
23650-0040
500782-0001
10744
500782-0002
10745

Description

Screw, PH, 6-32 x 1/4, Phil, SS
Screw, SH, 1/4-20 x 5/8, SS
Collar

Casting

Load cell assembly

Bolt, SH, 1/4-20 x 1-1/2, SS
Collar

Collar (pre 1992 Only)

Screw, BH, 1/4-20 x 1, SS

Nut, hex, 1/4-20, SS

Washer split

Filter

Seal

Ground strap

Washer, internal tooth, #6, SS
Screw, drive, #6 x .25, SS
Shackle, 25T 50,000 Ib
Shackle, 40T 70,000 Ib

Hook, swivel, 50,000 lb

Latch, safety (fits 500782-0001 hook)
Hook, swivel, 70,000 lb

Latch, safety (fits 500782-0002 hook)

List Price

.50

1.00
95.00
350.00
2375.00
1.00
75.00
300.00
1.00

.50

.50

5.00
50.00
10.00
.50

.50
350.00
695.00
3325.00
70.00
4895.00
100.00

Page 84

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



PUB.212-09-92C

MSI-6260 TRANS-WEIGH
MID-SECTION - 50 & 70,000 LB

Measurement Systems International
14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A



MSI-6260 Trans-Weigh Battery Casting Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

co PN wn =

Part Number

D00559-0004
B00424-0002
38920-0001

30055-0004

500016-0300
D00824-0100
C00517-0001
20975-0044

A00091-0100
B00418-0002
B00418-0001
D00823-0100
C00543-0100

Complete Battery Casting Assembly

D00827-0003
D00762-500

Description List Price
Battery assembly 95.00
O-Ring 10.00
Plug, banana 3.50
Nut, jam, 5/16-24, hex, SS 50
Cable assembly, power 50.00
Casting 175.00
Connector, battery 20.00
Screw 1.00
Latch 30.00
Hinge, rubber 5.00
Plate, hinge 10.00
Casting 75.00
Label 15.00
Battery casting assembly 425.00
Battery casting assembly, 115 or 230 VAC, 50/60 Hz 625.00

Page 86

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



J26-60-G12°d4nd

V'S'N 199v-89186 uojbulysep ‘apess
00Z3LS WnosS dnuaAy ueqinisjul 0vey L
[BUORBLISYU| SWRJSAS JuswaInsea|y

ATGWNISSY ONILSYO AY3LLVE
HOIIM-SNV YL 09¢9-ISW




MSI-6260 Trans-Weigh Battery Charger Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 23595-0001 Lens, w/grommet (red) 5.00
2 B00425-0001  Cord, power 7.00
3 20060-0001 Strain relief 1.00
4 30042-0033 Spacer, threaded, 8-32 X 1/4, hex, alum 50
5 30028-0263 Screw, PH, 10-32 x 3/8, Phil, SS .50
6 22081-0001 Bumper 5.00
7 30017-0016 Nut, hex, 8-32, SS 50
8 D00566-0001  Housing, 117 VAC 65.00
9 D00589-0003  PCB, charger ,117 VAC 215.00
9 D00589-0004 PCB, charger, 230 VAC 245.00
10 R10 (for reference only)

11 37301-0014 Lamp (if R10 = 18 ohms) 7.00
11 37002-0001 LED, red (if R10 = 620 ohms) 7.50
12 21202-0001 Spacer, threaded, 10-32 x 9/16, hex, alum 2.00
13 21201-0024 Spacer, threaded, 6-32 X 1/4, hex, brass 2.00
14 38920-0001 Plug, banana 3.50
15 30026-0263 Screw, FH, 10-32 x 3/8, Phil, SS 1.00
16 D00566-0006  Housing 42.00
17 C00422-0001 Label 7.00
502221-0001 Universal battery charger 115 /230 VAC, 50/60 Hz (North American
plug configuration is standard, contact factory if alternate is required)  245.00
Page 88 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



W'S'N 1997-89186 uojbulysep) ‘epiess
00¢ 1S UYInog snuaiy ueqinisiul Opeyl
[EUONEWIBIU| SWa)SAS JusLiaInNses)y
AT8INISSY 430¥VHI AY3LLVE
HOIIM-SNVY 1 0929-ISN

ol

Coo02 1 28Ny



MSI-6260 Trans-Weigh Universal Battery Charger Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 12747 Power cord, North America 25.00
1 12754 Power cord, United Kingdom (not shown) 25.00
1 12752 Power cord, European (not shown) 25.00
1 12753 Power cord, Australian (not shown) 25.00
2 12745 Universal power adapter 125.00
3 21000-0029  Screw, RH 6-32 x 3/8, Sltd., SS .50
4 20701-0004  Washer internal tooth #6, SS .50
5 10161 Lug, solder #6, copper 1.00
6 501932-0100 Housing battery plug 35.00
7 38920-0001 Plug, banana 3.50
8 502227-0100 Label, descriptive 12V 10.00
502221-0001 Universal battery charger 115/230 VAC, 50/60 Hz
(North American plug configuration is standard, contact
factory if alternate is required) 245.00
Page 90 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



V'S'N 199y-89186 uoiBuiysep ‘spess
00Z3LS Wpnog anusay ueqinisjul 0bzy |
[euoneusju) swisjsAS juswainsealy

d3OUVHI AHILLYE TVSHIAINN
HOIIM-SNV YL 0929-ISW




MSI-6260 Trans-Weigh Indicator Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 B00503-0001 Cable assembly 75.00
2 20015-0001 Latch 30.00
3 B00512-0001 Cable, power, AC 30.00
4 501352-0001 PCB, receiver (D03) 550.00
4 501352-0002 PCB, receiver (D05) 550.00
4 501352-0003 PCB, receiver (D01) 550.00
4 501352-0004 PCB, receiver (D04) 550.00
4 501352-0005 PCB, receiver (D02) 550.00
5 D00696-0100 Plate, mounting 75.00

5A D00697-0100 Plate, cover (receiver) 145.00
6 501577-0100 Plate, base 75.00
7 D00680-0002 PCB, power supply, AC input 400.00
7 D00680-0004 PCB, power supply, DC input 400.00
8 D00695-0100  Cover 35.00
9 D00698-0100  Cover 45.00
10 D00699-0400 Label 15.00
11 D00673-0002 PCB, controller 1050.00
12 D00693-0100 Door, Indicator 350.00
13 D00681-0001 PCB, switch 265.00
13 11589 Switch 25.00
14 D00674-0001 PCB, display 425.00
15 B00500-0001 Cable assembly, ribbon 45.00
16 B00499-0001 Cable assembly, ribbon 45.00
17 22250-0003 Clip, mounting, ribbon cable 5.00
18 11640 Gasket 12.00
19 D00690-0100 Enclosure 450.00
20 D00699-0600 Label 10.00
21 B00504-0001 Cableassembly, DC 38.00
21 38610-0422 Connector, Panduit, 4 position (for BO0504-0001) 1.00
22 B00505-0001 Cable assembly, input/output 30.00
22 38610-0622 Connector, Panduit, 6 position (for BO0505-0001) 2.00
23 B00506-0001 Cable assembly, serial data 30.00
23 38610-0722 Connector, Panduit, 7 position (for BO0506-0001) 2.00
24 B00502-0001 Cableassembly, receiver 35.00
24 38610-0522 Connector, Panduit, 5 position (for BO0502-0001) 1.00
25 22700-0001 Strainrelief 10.00
26 D00682-0001 Label 135.00
27 C00541-0100 Window 20.00
28 C00542-0100 Label, capacity, 5001b 7.00
28 C00542-0200 Label, capacity, 2,0001b 7.00
28 C00542-0300 Label, capacity, 5,0001b 7.00
28 C00542-0400 Label, capacity, 10,000 1b 7.00
28 C00542-0500 Label, capacity, 20,000 1b 7.00
28 C00542-0600 Label, capacity, 30,000 Ib 7.00
28 C00542-0700 Label, capacity, 50,000 1b 7.00
28 C00542-0800 Label, capacity, 70,000 1b 7.00
28 C00542-0900 Label, capacity, 100,0001b 7.00
28 C00542-1200 Label, capacity, 250 kg 7.00
28 C00542-1300 Label, capacity, 1,000 kg 7.00
28 C00542-1400 Label, capacity, 2,500kg 7.00
28 C00542-1500 Label, capacity, 5,000 kg 7.00
28 C00542-1600 Label, capacity, 10,000kg 7.00
28 C00542-1700 Label, capacity, 15,000kg 7.00
28 C00542-1800 Label, capacity, 25,000kg 7.00
28 C00542-1900 Label, capacity, 35,000kg 7.00
28 C00542-2000 Label, capacity, 50,000kg 7.00
29 36155-0002 Bezel/button 15.00

Page 92 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



PUB 2 140RG2

}NE

MSI-6260 TRANS-WEIGH
INDICATOR ASSEMBLY
Measurement Systems International
14240 Interurban Avenue South STE 200
Seattle, Washington 98168-4661 U.S.A.



MSI-6260 Trans-Weigh Remote Antenna Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description

List Price

1 D00701-0100  Ground plane 75.00

2 33751-0002 Antenna 50.00

3 D00700-0100  Bracket, mounting 75.00

4 38366-0001 Plug, straight, TNC 25.00

5 39901-0001 Cable, coaxial 1.80/ ft

6 38365-0002 Jack, bulkhead, TNC 50.00

Complete Antenna Assembly

D00694-0001  Receiver Assembly, Antenna 250.00

39901-100 Cable Assembly 20' 150.00

Page 94

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



VSN 1997-89186 uolbuiysep ‘ajess
00Z 3LS YIN0g Snuany uequnialuf Opzy)
[EUONIBWIBIU| SWIRISAS JuaLwaINSeal
ATENISSY YNNILNY 310N3NH
HOIIM-SNVHL 0929-ISIN

PUB.21300-92



MSI-3600 Magnum Carriage Assembly
Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

WWWWWNNDNNDMNDNDMNNDN NN = — L 4 L L4 L 4 L
RONZTOOOVNOTRARODONN A0 OONNNTNODORARON 20 OO®NOOTAWONDN =

Part Number

25726-0001
25726-0002
25726-0003
20842-0001
20842-0002
24945-0001
30013-0027
21054-0027
21054-0027
20851-0298
30016-0013
C00626-0001
21054-0027
30013-0027
24945-0001
20842-0003
20842-0004
24945-0002
501896-0001
C00621-0100
C00621-0300
C00621-0700
C00621-0900
25728-0007
30016-0013
20851-0298
C00622-0100
25726-0004
25726-0005
23680-0001
20843-0001
20811-0391
20844-0001
25726-0008
C00622-0200
25726-0006
30016-0013
20851-0298
20851-0298
30016-0013
20851-0298

* Contact factory for current pricing

Description

Plate, load cell access

Plate, front, class I

Plate, front, class Il

Bolt, suspension, bottom, class Il, Kit
Bolt, suspension, bottom, class IlI, Kit
Shock absorber, rubber

Washer, flat

Nut, hex

Nut, hex

Screw, cap, hex

Washer, lock

Load cell cable assembly

Nut, hex

Washer, flat

Shock absorber, rubber

Bolt, suspension, top, class Il, Kit
Bolt, suspension, top, class Ill, Kit
Cover, dust, rubber

Load cell assembly

Flexure, top, class I, 3"

Flexure, top, class IllI, 3"

Flexure, bottom, class Il, 3"
Flexure, bottom, class IlI, 3"
Clamp, flexure, 3"

Washer, lock

Screw, cap, hex

Clamp, support, flexure, center, 3"
Plate, rear, Class I

Plate, rear, Class Il

Pin, anti-shift

Bolt, safety, hex

Screw, cap, SH, Allen

Bolt, tap, hex

Clamp, flexure, 6"

Clamp, support, flexure, center, 6"
Plate, safety

Washer, lock

Screw, cap, hex

Screw, cap, hex

Washer, lock

Screw, cap, hex

List Price

*
*

*

55.00
55.00

*

* * * * *

250.00

55.00
55.00

850.00
40.00
40.00
40.00
40.00
12.00

*

* * * * * * * * *

75.0

* * * *x * *x O

Page 96

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



V'S 199789186 uolbuiysep) ‘siess
002 3LS Yinog snusAy ueqnisiul 0Fgyl
[EUOBUIS]U| SWBJSAS JuBLIAINSEa
ATGINISSY JOVIHYYD
WNNNDVIN 009¢-ISN

Lae0BIE B0



MSI-3600 Magnum Indicator Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number

1 36151-0003
2 C00547-0001
2 38412-K06S
3 22200-0014
4 22200-0010
5 C00616-0001
5 38412-GO3P
6 35890-0003
7 35890-0200
8 35890-0100
9 36550-0102
10 C00625-0001
10 38413-G03S
11 C00603-0001
11 C00603-0002
12 23550-0001
13 21630-0132
14 D00738-0001
15 D00729-0008
16 20015-0001
17 C00548-0001
17 38412-K05S

Description List Price
Switch 45.00
Connector assembly, RS232 35.00
Connector only 22.00
Gasket, connector (RS232 & load cell connector) 2.50
Gasket, connector (power connector) 2.50
Connector assembly, power 53.00
Connector only 17.00
Keypad 225.00
PCB, display obsolete
PCB, computer obsolete
Fuse, 1 amp, AGC 1.00
Cable assembly, power 100.00
Connector only 25.00
PCB, DC/DC converter 36VDC 150.00
PCB, DC/DC converter 48VDC 150.00
Knob 10.00
Spacer, knob, mounting 5.00
Bracket, mounting obsolete
Enclosure assembly obsolete
Latch 30.00
Connector assembly, load cell 45.00
Connector only 20.00

Page 98

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



VSN 199789186 uolBuiysep ‘ejness
00Z 3LS Yinos anuaAy ueqiniaiul 0¥zl
[euoNEUIB)U| SWa)SAS JusLwaINSes]
ATEIN3SSY 4OLVIIANI
WNNOYIN 009€-ISN

"HOLVDIONI 059e-1SW 3HL 3SN 2661 AVIN ULV GIUIAINIA SWNNOVI 010N ,

Z&B0LI T8N




MSI-3700 Magnum Plus Carriage Assembly
Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
2 20810-0181 Screw, SH, 3/8-16 x 3/4, SS 1.50
3 11724 Screw, HH, 1/2-13 x5 2.50
4 11725 Washer flat, .53 x 1.06 x .1 Steel 1.50
5 501210-0100  Label, descriptive 23.00
6 11242 Screw, HH, 3/8-16 x 1.5 1.00
7 501202-0100  Clamp Flexure 35.00
8 501201-0001 Flexure assembly 80.00
9 10623 Nut, hex, 1/2-13 1.00
10 501206-0100  Screw, HH, trimmed, 1/2-13 x 2.25 18.00
11 11246 Screw, HH, 1/2-13 x 2.25 2.50
13 501564-0005 Load Cell assembly (includes 7 pin male connector, part # 11266) 850.00
14 501198-0100  Hook, lower 60.00
15 11241 Screw, HH, 3/8-16 1.0 1.00

* Contact factory for current pricing

Page 100 Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-3700 MAGNUM PLUS

CARRIAGE FINAL ASSEMBLY, CLASS I

Measurement Systems International

\

]

PUB.260-03-99

14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A.



MSI-3700 Magnum Plus Carriage Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description

List Price
1 11266 Connector 7 pin male 40.00
2 501348-0001 Cable assembly 250.00

Page 102

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



V'SN 1997-89186 uojbuiusep ‘spess
00Z23LS WnoS anusAy ueqinuaiul 0pZy | : .
|euoneuIB)u| SWa)SAS Juswainsesy 66-£0-192°dNd

1SSV 19 'ATGNISSY VNI JOVINEVD
SM1d NNNOVIN 00£E-ISW

JILVW3HIS
o
N |3
TR | >
TH) ovO WO 3 - ] O
a1s - 3o |
gIs + ] o
W3 + emid

a



MSI-5300 Load Ranger Pad Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 D00742-0100 Label with window, capacity, 20,000 x 20 Ib 45.00
1A D00742-0200 Label, capacity, 10,000 x 10 kg 10.00
1A D00742-0300 Label, capacity, 20,000 x 50 Ib 10.00
1A D00742-0400 Label, capacity, 10,000 x 20 kg 10.00
2 C00613-0100  Window 20.00
3 36151-0003 Switch 45.00
4 36151-0007 Switch 35.00
5 30036-0005 Nut, hex, 4-40, nyloc, SS, low profile 1.00
6 C00657-0200  Clip, battery 10.00
7 C00657-0100  Clip, battery 12.00
8 C00659-0100  Plate, mounting 40.00
9 30026-0228 Screw, FH, 6-32 X 3/8, Phil, SS 50
10 C00655-0100  Pad, shock mount, battery 2.00
11 30026-0213 Screw, FH, 4-40 x 5/16, Phil, SS .50
12 C00654-0001  Battery assembly 50.00
13 C00660-0100  Gasket 3.50
14 C00608-0100  Cover 45.00
15 20006-0005 Fastener, 1/4 turn 3.00
16 30028-0227 Screw, PH, 6-32 X 5/16, Phil, SS .50
17 10212 Screw, cap, SH, 6-32 X 3/8, SS, w/hole 4.00
18 C00607-0100  Cover 35.00
19 C00661-0100  Gasket 2.50
20 D00783-0002  PCB, calibration 40.00
21 30028-0217 Screw, PH, 4-40 x 5/8, Phil, SS .50
22 D00732-0001  PCB, display 400.00
23 A00093-0100  Plug, access 15.00
Page 104 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-5300 LOAD RANGER

PAD ASSEMBLY

Measurement Systems International
14240 Interurban Avenue South STE 200
Seattle, Washington 98168-4661 U.S.A.



MSI-3550 Meter Assembly (AC Power Input)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

NODNNDMNODMNODMNDMNDMNODMNDND =& 1 4 b L
DNOTRDN 20OV REWN 20 ©@ON®O A WN —

Part Number

11887

10119

10537
30042-0005
501633-0100
11889

10731
30013-0046
11516

111568
500881-0001
501652-0001
10663

11893
501599-0100
501648-0100
501595-0001
11909
30042-0019
500885-0001
30042-0018
501648-0200
501617-0001
501601-0100
501600-0100
500776-0100
11203

11201

Description

Bumper

Connector, feed-thru

Plug

Spacer, hex, 4-40 x 3/8, aluminum
Bracket, mounting

Knob

Washer, .260 x .687 x .060
Washer, flar, 1/4, SS

Connector, feed-thru w/nut

Plug

PCB, display/keyboard

Software kit

U-Nut, 8-32

Screw, hex, 1/4-20 x 7/8, SS
Enclosure

Gasket, front adhesive

Panel, front

PCB, power supply

Spacer, hex, 6-32 x 5/16, aluminum
PCB, main

Spacer, hex, 6-32 x 1/4, aluminum
Pad, adhesive, interface

PCB, interface

Gasket, back panel

Panel, back

Label, warning

Screw, seal, 8-32 x .4375, SS
Screw, seal, 8-32 x .4375, SS

List Price

.50
3.50
.50
1.00
75.00
3.50
.50

.50
5.00
.50
325.00
115.00
1.00
.50
275.00
20.00
100.00
75.00
1.00
375.00
2.00
15.00
110.00
10.00
50.00
11.00
5.00
7.00

Page 106

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



AN

N -F\'

S /v,
LI
Micw
\ o))

7/

MSI-3550 METER

3550 METER FINAL ASSEMBLY

Measurement Systems International

14240 Interurban Avenue South STE200 .

Seattle, Washington 98168-4661 U.S.A

PUB.254-03-99



MSI-3550 Meter Assembly (AC Power Input)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 501654-0001 Cable, power 25.00
2 11909 PCB, power supply 75.00
3 501638-0001 Cable, power supply interface 10.00
4 501647-0001 Cable, load cell interface 20.00
5 11937 Connector, Molex 50

Page 108 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



s
/ o

FINAL ASSEMBLY 3550 VAC
14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A.

Measurement Systems International

MSI-3550 METER

PUB.258-03-99



MSI-3550 Meter Assembly (Battery Powered)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

WWWNNRNMNMNRNNDNR NN = = =
N2 OODVYOONRERDODNZAOOONDORAWN 20 O©O®NDOT AN =

Part Number

10119

10537
501633-0100
11887
501674-0400
501674-0100
501667-0100
501674-0200
501674-0300
11889
30013-0046
10731
501672-0001
501671-0001
11516

11158
500885-0001
501652-0001
500881-0001
10663

11893
501599-0100
501648-0100
501595-0001
30042-0019
30042-0018
501648-0200
501617-0001
501601-0100
11201

11203
501600-0100

Description

Connector, feed-thru

Plug

Bracket, mounting

Bumper

Gasket, battery side

Gasket, battery bottom
Bracket, external battery
Gasket, battery side w/adhesive
Gasket, battery top w/adhesive
Knob

Washer, flat, 1/4, SS

Washer, nylon, .260 x .687 x .060
Battery assembly

Cable, assy, internal
Connector, feed thru

Pin, .312 Dia. .75 long

PCB. main

Software, kit

PCB, display/keyboard

U-Nut, 8-32

Screw, hex, 1/4-20 x 7/8, SS
Enclosure

Gasket, front adhesive

Panel, front assembly

Spacer, hex, 6-32 x 5/16, aluminum

Spacer, hex, 6-32 x 1/4, aluminum
Pad, adhesive, interface PCA
PCA, interface

Gasket, back panel

Screw, seal drive,8-32 x .4375, FDA, SS

Screw, seal,8-32 x .4375, FDA, SS
Panel, back

List Price

3.50
.50
75.00
.50
2.00
4.00
45.00
2.00
2.00
3.50
.50

.50
95.00
65.00
5.00
.50
375.00
115.00
325.00
1.00
.50
275.00
20.00
100.00
1.00
2.00
15.00
110.00
10.00
7.00
5.00
50.00

Page 110

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



3550 METER FINAL ASSEMBLY

Measurement Systems International
14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S.A

MSI-3550 METER

PUB.256-03-99



MSI-3550 Meter Assembly (Battery Powered)
Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description

List Price
1 501671-0001 Cable assy, internal battery 75.00
2 501647-0001 Cable assy, interface load cell 20.00

Page 112

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



& Vi )
N\ N &\\W.\\\

Lo

)

Ui

%yz@‘ ﬂ@

N% ) UG ¢
A
NS
0 cq m—
R\
3O N
& /L'

S\ B S LI , ‘/
X A SR

NN -

4 i

FINAL ASSEMBLY 3550 BATTERY POWER

Measurement Systems International
14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S.A

MSI-3550 METER

=\
=\
—
=
70

N\

ll‘ -
- ’@%////4 )

— e — - - - - e =

PUB.257-03-99



MSI-3550 Meter Assembly (DC Power Input)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

NDNOMNDMNDMNODMNODMNDMNDND & 4 4 4 4
PONONEON OO NODIT RN 0PN AW~

Part Number

11887

10119

10537
501633-0100
11889

10731
30013-0046
11516

11158
501652-0001
500881-0001
10296
500656-0003
10663

11893
501599-0100
501648-0100
501595-0001
30042-0019
500885-0001
30042-0018
501648-0200
501617-0001
501601-0100
501600-0100
11201
500712-0200
11203

Description

Bumper

Connector, feed-thru

Plug

Bracket, mounting

Knob

Washer, .260 x .687 x .060
Washer, flar, 1/4, SS

Connector, feed-thru w/nut

Plug

Software, kit

PCB, Display/keyboard

Stand off, hex, 6-32 x 3/8, aluminum
PCB, DC to DC

U-Nut

Screw, hex, 1/4-20 x 7/8, SS
Enclosure

Gasket, front panel, adhesive
Panel, front

Spacer, hex, 6-32 x 5/16, aluminum
PCB, main

Spacer, hex, 6-32 x 1/4, aluminum
Pad, adhesive, interface PCB
PCB, interface

Gasket, back panel

Panel, back

Screw, seal drive, 8-32 x .4375, SS
Label, warning VDC

Screw, seal, 8-32 x .4375, SS

List Price

.50
3.50
.50
75.00
3.50
.50

.50
5.00
.50
115.00
325.00
1.00
200.00
1.00
.50
275.00
20.00
100.00
1.00
375.00
2.00
15.00
110.00
10.00
50.00
7.00
14.00
5.00

Page 114

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



3550 METER FINAL ASSEMBLY

Measurement Systems International
14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S.A

MSI-3550 METER

PUB.255-03-99




MSI-3550 Meter Assembly (DC Power Input)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description

List Price
1 501662-0001 Cable assembly, external DC to DC 60.00
2 501659-0001 Cable assembly, interface DC to DC 25.00
3 501647-0001 Cable assembly, interface load cell 20.00

Page 116

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



s/

14240 Interurban Avenue South STE200

FINAL ASSEMBLY 3550 VDC
Seattle, Washington 98168-4661 U.S.A

Measurement Systems International

MSI-3550 METER

PUB.259-03-99



MSI-3650 Meter Assembly (AC Power Input)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

WRMNODMNNOMNDMNDNNNDRN = - —
OOONNOTNRARDNATOOCODITAWN 20 OO®NOA~GN =

not shown
not shown

xxxx Due to the large number of possible configurations of this assembly, please contact factory for assistance.

Part Number

10520
501464-0100
10516
501459-0100
10517
501076-xxxx
10309

10271
21615-0002
20701-0003
10780

10761
500447-0001
10519
10524
10515
39800-0003
500712-0100
10119
500325-0300
10762
30612-0304
38061-0182
38001-0006
10296

10441

10306

10521

500656-0001
500656-0002

Description

Screw, seal, PH, 10-24 X 15/32, SS

Label, descriptive

Screw, FH, locking patch, 4-40 X 3/8, Phil, SS
Front panel

Standoff, hex, 4-40 X 3/8, alum.

PCB, computer/display (MSI-3650 only)

Cap, switch

Switch

Washer, flat, .120 X .280, nylon

Washer, internal tooth, #4, SS

Screw, FH, locking patch, 4-40 X 5/16, Phil, SS
Screw, FH, locking patch, 6-32 X 3/16, Phil, SS
O-Ring

Screw, seal, FH, 1/4-20 X 15/32, Phil, SS
Screw, set, 5/16-18 X 1/4, allen, SS
Connector, feed-thru

Cable, power

Label, warning

Connector, feed-thru

Enclosure

Screw, FH, locking patch, 6-32 X 5/16, Phil, SS
Wire, 18 AWG, green

Terminal, quick disconnect, female, 22-18 AWG
Ring, terminal, #6, 22-18 AWG

Standoff, hex, 6-32 X 3/8, alum

Washer, flat, #6, SS

Screw, FH, locking patch, 6-32 X 3/8, Phil, SS
Screw, seal, PH, 8-32 X 1/2, Phil, SS, black oxide

PCB, Power supply, DC to DC
PCB, Power supply, Dc to DC, Isolated

List Price

15.00
40.00
1.00
75.00
1.00
950.00
1.00
4.00
.50
.50
1.00
1.00
14.00
12.00
1.00
5.00
15.00
5.00
3.50
350.00
1.00
.50/in
1.00
1.00
1.00
1.00
1.00
2.00

150.00
200.00

Page 118

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-3650 METER ASSEMBLY

AC POWER INPUT

Measurement Systems International

14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A

PUB.236-05-94C




MSI-3650 Meter Assembly (DC Power Input)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

WWWWWWNMNMNONDNDMNDMNDNN = — 4 0
TRERONIZOOOVNOONRDODNTOONODTARWON 20 ©ONEO LN =

Part Number

10520
501464-0100
10516
501459-0100
10517
501076-xxxx
21615-0002
20701-0003
10780
10309

10271
500751-0001
20701-0004
10761
500447-0001
38061-0182
10519
10524
10515
10647
10119
500712-0200
21631-0001
500325-0300
500656-0001
30028-0230
38001-0006
10762
30612-0304
10296
10441
10306
10521

Description List Price
Screw, seal, PH, 10-24 X 15/32, SS 15.00
Label, descriptive 40.00
Screw, FH, locking patch, 4-40 X 3/8, Phil, SS 1.00
Panel, front 75.00
Standoff, hex, 4-40 X 3/8, alum. 1.00
PCB, computer/display 950.00
Washer, flat, .120 X .280, nylon .50
Washer, internal tooth, #4, SS .50
Screw, FH, locking patch, 4-40 X 5/16, Phil, SS 1.00
Cap, switch 1.00
Switch 4.00
Cable assembly, DC/DC power 30.00
Washer, internal tooth, #6, SS .50
Screw, FH, locking patch, 6-32 X 3/16, Phil, SS 1.00
0O-Ring 14.50
Terminal, quick disconnect, female, 22-18 AWG 1.00
Screw, seal, FH, 1/4-20 X 15/32, Phil, SS 12.00
Screw, set, 5/16-18 X 1/4, allen, SS 1.00
Connector, feed-thru 5.00
Cord power, DC 6.00
Connector, feed-thru 3.50
Label, warning 10.00
Spacer, #6 X 1/8 1.00
Enclosure 350.00
PCB, Power supply, DC to DC 145.00
Screw, PH, 6-32 X 1/2, Phil, SS 50
Ring, terminal, #6, 22-18 AWG 1.00
Screw, FH, locking patch, 6-32 X 5/16, Phil, SS 1.00
Wire, 18 AWG, green .50/in
Standoff, hex, 6-32 X 3/8, alum 1.00
Washer, flat, #6, SS 1.00
Screw, FH, locking patch, 6-32 X 3/8, Phil, SS 1.00
Screw, seal, PH, 8-32 X 1/2, Phil, SS, black oxide 2.00

xxxx Due to the large number of possible configurations of this assembly, please contact factory for assistance.

Page 120

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



PUB.237-05-94C

)

3 \\Sr §f§‘\/

N2 RS
N
e

14240 Interurban Avenue South STE200

MSI-3650 METER ASSEMBLY
Seattle, Washington 98168-4661 U.S.A

DC POWER INPUT

Measurement Systems International



MSI-3650 Meter Assembly (Battery Powered)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

WWWNMNMNDMNDMNDMNDMNDNDN L = L L
NSO ODNOTWN=2OONODTRWN 20 ©ON®O A WN

xxxx Due to the large number of possible configurations of this assembly, please contact factory for assistance.

Part Number

10520
501464-0100
10516
501459-0100
500435-0100
10517
501076-xxxx
21615-0002
20701-0003
10780
10309

10271
20701-0004
10761
500445-0002
500579-0100
500325-0100
10519
10524
10119
500364-0001
500447-0001
10041
30612-0304
30028-0226
38001-0006
10296

10441

10306

10521

Description

Screw, seal, PH, 10-24 X 15/32, SS

Label, descriptive

Screw, FH, locking patch, 4-40 X 3/8, Phil, SS
Panel, front

Shield, EMI

Standoff, hex, 4-40 X 3/8, alum.

PCB, computer/display (MSI-3650 only)
Washer, flat, .120 X .280, nylon
Washer, internal tooth, #4, SS

Screw, FH, locking patch, 4-40 X 5/16, Phil, SS
Cap, switch

Switch

Washer, internal tooth, #6, SS

Screw, FH, locking patch, 6-32 X 3/16, Phil, SS
Battery tube assembly

Rod, support

Enclosure

Screw, seal, FH, 1/4-20 X 15/32, Phil, SS
Screw, set, 5/16-18 X 1/4, allen, SS
Connector, feed-thru

Cap, battery access

O-Ring

Battery, alkaline, D cell

Wire, 18 AWG, green

Screw, PH, 6-32 X 1/4, Phil, SS

Ring, terminal, #6, 22-18 AWG

Standoff, hex, 6-32 X 3/8, alum
Washer, flat, #6, SS

Screw, FH, locking patch, 6-32 X 3/8, Phil, SS

Screw, seal, PH, 8-32 X 1/2, Phil, SS, black oxide

List Price

15.00
40.00
1.00
75.00
3.00
1.00
950.00
.50
.50
1.00
1.00
4.00
.50
1.00
70.00
15.00
350.00
12.00
1.00
3.50
65.00
14.50
3.00
.50/in
1.00
1.00
1.00
1.00
1.00
2.00

Page 122

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



J¥6-50-862"4nd

V'S'N 199+-89186 uoibuiysep 'spess
00Z3LS Wnog anusAy ueqinusiu| Oy L
|euoRBWa)U| SWRISAS JusWaInseajy

43IMOd AY3LLVE
ATANISSY ¥313N 059€-ISW




MSI-3650/3750/3750CS Mounting Bracket Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 10572 Knob 10.00

2 21615-0001 Washer, flat, .315, nylon 1.00

3 10582 Screw, set, 5/16 -18 X 1-1/8, SS 1.00

4 500572-0100 Bracket, mounting 75.00

5 21630-0132 Spacer, 5/8 X 7/16, black anodize, alum. 5.00
500665-0001 Mounting bracket assembly 95.00

Page 124 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



PUB.239-05-94C

MS!-3650 METER
MOUNTING BRACKET ASSEMBLY

Measurement Systems International
14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A



MSI-9000 CellScale

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

NOMNDMNODMNNDMNNDMNODMNDMNDND - 4 4 4 4
PNV TRDON 200NN RAON 20 ©@R®NDOAWN =

Part Number

12028
501646-0001
501645-0001
12027
501645-0002
30028-0212
11097
501644-0007
11980
501593-0001
12059
501591-0001
501687-0001
11588
501592-0001
501688-0001
501368-0001
501627-0100
30028-0227
502010-0100
501686-0001
501685-0003
30028-0225
11990
501817-0001
12009

11978
501819-0100

Description

Closure cap, connector, female

Connector assembly, pwr & switch input
Connector assembly, serial I/O intfc, male
Closure cap, connector, male

Connector assembly, serial I/O intfc, female
Screw, PH, 4-40 x 1/4, Phil, SS

Gasket flange, 1.125 square

Connector assembly, L/C input

Pad, 3.6 x 0.5 x 0.1

Input supply PCA

Washer, flat #4

Micro-Controller PCA

Cable assembly, A/D to power

Standoff, hex, 3/8 Lg, 4-40 x 0.188, aluminum
High resolution PCA, A/D

Cable assembly, A/D micro-controller
O-ring assembly

Cover, enclosure

Screw, PH, 6-32 x 5/16, Phil, SS

Label, descriptive

Cable assembly, micro-controller to modem
Cable assembly, pwr supply to modem
Screw, PH, 6-32 x 3/16, Phil, SS

Modem, RF, 2.4GHz

Cable assembly, antenna

Gasket flange, 0.689 square

Gasket, foam filled mesh, EMI

Enclosure, CellScale

List Price

1.00
50.00
50.00

2.00
50.00

50
5.00
135.00
12.00
350.00
1.25
500.00
15.00
2.00
275.00
20.00
10.00
125.00
.50
15.00
25.00
5.00
.50
1600.00
75.00
5.00
2.50
425.00

Page 126

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



0@ L
\

ﬁ
%

MSI-9000 CELLSCALE

FINAL ASSEMBLY

Measurement Systems International
14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A



MSI-9002 CellScale Breakout / Summing Box

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 12338 Cord grip, PG11 6.00
2 10537 Pin, acetal, 1/4 DIA x 3/4 .50
3 10119 Cord grip, PG9 3.50
4 30028-0226 Screw, PH, 6-32 x 1/4, Phil, SS .50
5 501917-0100  Label, descriptive 35.00
6 30028-0212 Screw, PH, 4-40 x 1/4, Phil, SS .50
7 501920-0100  Cover, enclosure 225.00
8 502021-0100  Label, wiring detail 5.00
9 501702-0001 PCA assembly 375.00
10 11976 Standoff, hex, 3/8 Lg, 4-40 x 0.188, SS 3.50
11 501368-0001  O-ring assembly 10.00
12 501707-0100  Enclosure, breakout / summing box 425.00
Page 128 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-9002 CELLSCALE BREAKOUT/SUMMING BOX
Measurement Systems International

14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S.A




MSI-9000 CellScale Power Supply

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

P AR DAL DOONO O WN =

Part Number

12387
501654-0001
11516

11937
30036-0005
501961-0100
12385

12386
501955-0100
30028-0217
12404
30003-0103
20975-0013
501956-0100
12020
10119

Description

Bracket, wall mount

Cable, power

Cord grip, PG11

Connector, crimp terminal housing
Nut, hex, 4-40, SS, low profile
Label, descriptive

Switch, SPST momentary

Switch, SPST momentary, illuminated
Cover, enclosure

Screw, PH, 4-40 x 5/8, Phil, SS
Power Supply

Spacer, 1/4 DIA, aluminum

Screw, PH, 4-40 x 1/4, Phil, SS
Mounting Plate

Cordset

Cord grip, PG9

List Price

20.00
25.00
5.00
.50
1.00
25.00
25.00
25.00
225.00
.50
175.00
1.00
.50
5.00
100.00
3.50

Page 130

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-9000 CELLSCALE POWER SUPPLY
Measurement Systems International

14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S.A

SEE DETAIL A



MSI-3750/3750CS Meter Housing

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 11516 Cord grip, PG11 5.00
2 10519 Screw, seal, FH, 1/4-20 X 15/32, Phil, SS 12.00
3 10524 Screw, set, 5/16-18 X 1/4, allen, SS 1.00
4 39800-0003 Cable, power 15.00
5 10119 Cord grip, PG9 3.50
6 12027 Closure cap, connector, male 2.00
7 12259 Connector receptacle, 5 pin, female 45.00
7A 500712-0300  Label, warning 11.00
8 501735-0100  Serial number tag 1.50
9 501978-0100  Label, FCC 15.00
10 500325-0800 Enclosure CS 350.00
10 500325-0300 Enclosure 350.00
11 500447-0001 O-Ring 14.50
12 10521 Screw, seal, PH, 8-32 X 1/2, Phil, SS, black oxide 2.00
13 10520 Screw, seal, PH, 10-24 X 15/32, SS 15.00
Page 132 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



o

é”ﬂ) Y

771/

=
N7
=

N

X

MSI-3750/3750CS METER HOUSING

Measurement Systems International
14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S.A



MSI-3750/3750CS Front Panel

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 501028-0200  Front panel membrane switch assembly 200.00
3 501076-0003 Display assembly 950.00
4 11634 Standoff, hex, 1/4, SS 2.50
5 11639 Standoff, hex, 1/4, 6-32 x 0.25, SS 2.50
6 501524-0001  Ground wire assembly 10.00
7 30028-0228 Screw, PH, 6-32 x 3/8, Phil, SS .50
8 20701-0004 Washer, internal tooth #6, SS .50
9 11696 Standoff, hex, 1/4, 6-32 x 0.25, SS 3.50
10 30035-0008 Nut, hex, 4-40, SS .50

502069-0001  PCB, Adapter 40.00
502072-**** Panel assembly 1295.00

**** Due to the large number of possible configurations of this assembly, please contact factory for assistance.

Page 134

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.






MSI-3750CS Modem Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number

501717-0001
11990
30028-0227
501697-0100
30028-0212
501832-0001
12009
30028-0229
30028-0225

©COoONOOOTM~WN =

not shown 11953

Description

Cable assembly, modem
Modem, RF, 2.4GHz

Screw, PH, 6-32 x 5/16, Phil, SS
Mounting plate, modem

Screw, PH, 4-40 x 1/4, Phil, SS
Cable assembly, antenna
Gasket flange, 0.689 square
Screw, PH, 6-32 x 7/16, Phil, SS
Screw, PH, 6-32 x 3/16, Phil, SS

Antenna

List Price

75.00
1600.00
.50

40.0

.50
75.00
5.00

.50

.50

67.00

Page 136

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



V'S'N 199-89186 uOlBulySEM ‘BpiEsS
00Z3LS WNog enusAy ueqiniaiu} oyzy |
[BUORBLIBIU| SWRISAS JUSWIAINSEB N

AT8NISSY WIAOW SJ06.€/0G.€E-ISW




MSI-6260CS Trans-Weigh Front Casting Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

NDNNDMNDMNNDMNDNDND & 4 44
DN RDODN 2O OCONODTRWN 20O NDO AN

**** Due to the large number of possible configurations of this assembly, please contact factory for assistance.

Part Number

502148-0001
C00667-0003
11727

11726

12027
501876-0001
501825-0100
30028-0244
501811-0100
12134
501812-0100
501831-0001
D00668-0300
38081-0001
12410
B00515-0100
502006-****
501688-0003
501687-0002
501810-0001
501593-0001
501591-0001
501685-0001
501686-0001
11990
B00424-0003

Description

Switchassembly

Mount, shock bracket assembly
Bracketangle

Clamp, cable

Closure cap, connector, male
Connectorassembly, serial I/O intfc
Label, descriptive

Screw, PH, 8-32 x 3/8, Phil, SS
Antennahousing

Antenna, 2.4 GHz

Gasket, antennahousing

Cable assembly, RF antenna
Casting, front

Terminal, quick disconnect

Shock mount

Ground strap

Connectoradapter, PCA

Cable assembly, A/D micro-controller
Cable assembly, A/D to power
Mounting plate assembly

Input Supply PCA

Micro-controller PCA

Cable assembly, modem pwr
Cable assembly, micro-controller tomodem
Modem, RF, 2.4GHz

O-Ring

List Price

120.00
20.00
2.50
1.00
2.00
225.00
45.00
.50
85.00
125.00
3.00
115.00
275.00
2.50
25.00
7.00
factory quote
35.00
25.00
45.00
350.00
500.00
15.00
25.00
1600.00
10.00

Page 138

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



(=)
> &3
I 1
Om‘“P—J:
OSso.
gm'ﬁ&%
T h53d
‘é’<§s§
Qeggo
EZ52s
Fac.g
U)(Dt/)g.g
Q< sE5
80@3@
SE=EES
©ziis
0O ag=E
Lordgy
SL=-w



MSI-6260CS Trans-Weigh Mid-Section Assembly (500 - 10,000 Ib)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 B00410-0003  Seal, lower 35.00
3 D00825-0100  Casting 295.00
4 500786-0100  Collar, top (2 pcs.) 20.00/ea
5 500783-0100  Link, upper 175.00
6 B00413-0002  Eye, lifting 500/2,000 Ib 125.00
6 500716-0100  Eye, lifting 5,000/10,000 Ib 125.00
7 20800-0120 Screw, BH, 1/4-20 x 5/8, SS 1.00
9 501290-0100  Bolt, clevis 15.00

9A 11458 Nut, hex 1.00
9B 11460 Cotter pin 1.00
10 C00401-0022 Load cell assembly, 500 Ib factory quote
10 D00801-0020 Load cell assembly, 2,000 Ib 800.00
10 D00801-0021  Load cell assembly, 5,000 Ib 800.00
10 D00801-0022  Load cell assembly, 10,000 Ib 1175.00
11 23600-0001 Filter 5.00
12 500787-0001 Hook assembly, swivel, 500/2,000 Ib 725.00
11906 Latch, safety (fits 500787-0001 hook w/hole) 25.00

10767 Latch, safety (fits 500787-0001 hook) 20.00

12 500297-0001  Hook assembly, swivel, 5,000/10,000 Ib 750.00
11902 Latch, safety (fits 500297-0001 hook w/hole) 30.00
22680-0002 Latch, safety (fits 500297-0001 hook) 25.00

13 B00514-0001  Ground strap 10.00
14 10669 Screw, drive, #6 x .25, SS 50
15 20701-0004 Washer, internal tooth, 6-32 .50
16 20975-0027 Screw, PH, 6-32 x 1/4, Phil SS .50
17 500760-0100  Collar 35.00
18 20810-0120 Screw, SH, 1/4-20 x 5/8, SS 1.00
19 20950-0117 Screw set, 1/4-20 x 3/8. SS .50
page 140 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



O 9

MSI-6260CS TRANS-WEIGH
MID-SECTION ASSEMBLY 500 THRU 10,000 LB

Measurement Systems International
14240 Interurban Avenue South STE200
Seatle, Washington 98168-4661 U.S.A



MSI-6260CS Trans-Weigh Mid-Section Assembly (20 & 30,000 Ib)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 B00514-0001  Ground strap 10.00
2 20810-0120 Screw, SH, 1/4-20 x 5/8, SS 1.00
3 C00410-0001  Collar, lower 95.00
4 D00826-0100  Casting 285.00
5 20810-0123 Screw, SH, 1/4-20 x 1, SS 1.00
6 500345-0100  Eye, lifting 300.00
7 C00436-0001  Seal, upper 3.50
8 30017-0020 Nut, hex, 1/4-20, SS 50

8A 30016-0038 Washer split .50
9 500359-0004 Load cell assembly 1500.00
10 23600-0001 Filter 5.00
12 501291-0100  Bolt 30.00
12A 11459 Nut 5.00
12B 10751 Cotter pin 1.00
13 10669 Screw, drive, #6 x .25, SS .50
14 C00409-0001  Seal, lower 50.00
15 20975-0027 Screw, PH, 6-32 x 1/4, Phil, SS .50
16 20701-0004 Washer, internal tooth, #6, SS .50
17 500729-0001  Hook assembly, swivel 20,000 Ib 1300.00
11904 Latch, safety (fits 500729-0001 hook w/hole) 35.00

10699 Latch, safety (fits 500729-0001 hook) 35.00

17 500729-0002 Hook assembly, swivel 30,000 Ib 1600.00
11905 Latch, safety (fits 500729-0002 hook w/hole) 60.00

10700 Latch, safety (fits 500729-0002 hook) 60.00

18 20950-0167 Screw set, 3/8-24 x 3/4, SS 1.00
page 142 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



128

12A

&)

MSI-6260CS TRANS-WEIGH

MID-SECTION ASSEMBLY 20 AND 30,000 LBS
Measurement Systems Intemational

14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S.A



MSI-6260CS Trans-Weigh Mid-Section Assembly (50 & 70,000 Ib)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

a4 a4 .
PP ToPOONNOO AN

14
(not shown)
(not shown)
(not shown)

(not shown)

Part Number

20975-0027
20810-0120
C00410-0001
D00826-0200
500624-0004
20810-0126
500678-0100
C00416-0002
20800-0123
30017-0020
30016-0038
23600-0001
C00409-0001
B00514-0001
20701-0004
10669

10540
23650-0040
500782-0001
10744
500782-0002
10745

Description

Screw, PH, 6-32 x 1/4, Phil, SS
Screw, SH, 1/4-20 x 5/8, SS
Collar

Casting

Load cell assembly

Bolt, SH, 1/4-20 x 1-1/2, SS
Collar

Collar (pre 1992 Only)

Screw, BH, 1/4-20 x 1, SS
Nut, hex, 1/4-20, SS

Washer split

Filter

Seal

Ground strap

Washer, internal tooth, #6, SS
Screw, drive, #6 x .25, SS
Shackle, 25T 50,000 Ib
Shackle, 40T 70,000 Ib

Hook, swivel, 50,000 Ib

Latch, safety (fits 500782-0001 hook)

Hook, swivel, 70,000 Ib

Latch, safety (fits 500782-0002 hook)

List Price

.50

1.00
95.00
350.00
2375.00
1.00
75.00
300.00
1.00

.50

.50

5.00
50.00
10.00
.50

.50
350.00
695.00
3325.00
70.00
4895.00
100.00

Page 144

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-6260CS TRANS-WEIGH

MID-SECTION ASSEMBLY - 50 & 70,000 LB
Measurement Systems International

14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S.A



MSI-6260CS Trans-Weigh Battery Casting Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

cofPNoorwn =

Part Number

D00559-0004
B00424-0002
38920-0001

30055-0004

500016-0300
D00824-0100
C00517-0001
20975-0044

A00091-0100
B00418-0002
B00418-0001
D00823-0100
501879-0100
501878-0100

Complete Battery Casting Assembly

D00827-0003
D00762-600

Description List Price
Battery assembly 95.00
O-Ring 10.00
Plug, banana 3.50
Nut, jam, 5/16-24, hex, SS .50
Cable assembly, power 50.00
Casting 175.00
Connector, battery 20.00
Screw 1.00
Latch 30.00
Hinge, rubber 5.00
Plate, hinge 10.00
Casting 75.00
Label, RF battery warning 15.00
Label, FCC 15.00
Battery casting assembly 425.00
Battery casting assembly, 115 or 230 VAC, 50/60 Hz 625.00

Page 146

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



VSN 199v-89186 uojbulysepm ‘spess
00Z3LS Wnog anusAy ueqinisiu| ovzy L
[eUOReUIBIU| SWASAS JusWaINSEDpy

ATENISSY ONILSYO AH3LLYE
HOIIM-SNYHL SO0929-ISW

P

S

=

G\
\ ]

b
S




MSI-6260CS Trans-Weigh Univeral Battery Charger Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 12747 Power cord, North America 25.00
1 12754 Power cord, United Kingdom (not shown) 25.00
1 12752 Power cord, European (not shown) 25.00
1 127583 Power cord, Australian (not shown) 25.00
2 12745 Universal power adapter 125.00
3 21000-0029  Screw, RH 6-32 x 3/8, Sltd., SS 50
4 20701-0004  Washer internal tooth #6, SS .50
5 10161 Lug, solder #6, copper 1.00
6 501932-0100 Housing battery plug 35.00
7 38920-0001 Plug, banana 3.50
8 502227-0100 Label, descriptive 12V 10.00
502221-0001 Universal battery charger 115/230 VAC, 50/60 Hz 245.00

(North American plug configuration is standard, contact factory

if alternate is required)

Page 148 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



Y'S'N 199789186 uojbulysep ‘spess
00Z3LS Wnog anusAy ueqinieiu] oyzy |
[BUOREUIB)U} SWIBYSAG JUBWAINSEI

HIOUVHI AY3LIVE TYSHIAINN
HOIZM-SNV YL SO09¢9-IS




MSI-9750 RF Remote Indicator ( Front View )

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 502103-0100 Keypad 80.00
2 502057-0001 Cable, Assembly CPU to Speaker 13.00
3 501886-0001 PCA, Controller 375.00
4 12589 Screw, PH, 4-24 x 3/16, Phil, SS .50
5 10358 Shunt, .1" Low Profile .50
6 12504 Cable, Controller to Display 10.00
7 502075-0001 PCA, Display assembly 650.00
8 501992-0100 Bracket, Window 36.00
9 12521 Battery, Lithium Coin Cell 4.00
10 502015-0100 Enclosure 100.00
11 30027-0204  Screw, FH, 2-56 x 3/8, PH, SS 1.00
12 501993-0100 Window 10.00
13 502011-0100 Label, Display 30.00
Page 150 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



\13

MSI-9750 RF REMOTE INDICATOR
FRONT VIEW ASSEMBLY
Measurement Systems International

14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A.



MSI-9750 RF Remote Indicator ( Back View )

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

NN 4 . 4 44
— 00PN ALONOOLINDO AW =

Part Number

502015-0100
12431
502129-0100
501887-0001
12522
12479
502041-0001
12589
502054-0001
502031-0100
501994-0100
12134
11990
501990-0001
12590
12433
12637
12591
12381
12638
12375

Description

Enclosure

Battery assembly 7.2 Volt

Pad 4.25x .63 x .25

Cable assembly RS232

Dust Cover, DE-9 Male
Screwlock assembly female
PCA, battery charger

Screw, PH, 4-24 x 3/16, Phil, SS
Cable assembly, Modem to CPU
Bracket, modem

Pad 1.5x.375x.188

Antenna housing w/Straight MMCX connector
Modem

Cable assembly, Power Jack
Gasket, enclosure

Power Jack Cover

Screw, PH, 4-40 x 1.38, Phil, SS
Gasket, battery enclosure

Hand Strap

Screw, PH, 4-40 x .50, Phil, SS
Velcro Adhesive Back

List Price

100.00
115.00
1.25
60.00
2.00
35.00
275.00
.50
35.00
25.00
1.25
125.00
1600.00
36.00
10.00
16.00
1.00
7.50
11.00
1.00
1.00

Page 152

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.






MSI-9750A RF Remote Indicator (Front View)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 502103-0200 Keypad 95.00
2 502179-0001 PCA, Controller 375.00
3 12589 Screw, PH. 4-24 x 3/16, Phil, SS .50
4 502243-0001 PCA, Display assembly 250.00
5 502246-0100 Bracket, window 36.00
6 30017-0013 Nut, Hex, 2-56, SS .50
7 12770 Battery, Lithium Coin Cell 6.00
8 502276-0100 Enclosure 100.00
9 30026-0202  Screw, PH, 2-56 x 1/4 Phil, SS .50
10 502245-0100 Window 12.00
11 502278-0100 Label, display 25.00
Page 154 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-9750A RF REMOTE INDICATOR
FRONT VIEW ASSEMBLY
Measurement Systems International

14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A



MSI-9750A RF Remote Indicator (Back View)

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

NN & 4 4 a4 a4 a4 a4
OCORWNAOOONOITRAWN 20 ©O®NDO AN =

Part Number

502276-0100
12431
502247-0001
12522

12479
502274-0001
12884
502282-0100
12885

12886
501735-0100
502041-0002
12589
30035-0015
502054-0001
12134
501994-0100
11990
502284-0100
12590
30026-0430
12637

12591
502129-0100
502073-0100
12638

Description

Enclosure

Battery assembly 7.2 volt

Cable assembly, RS232

Dust cover

Screwlock assembly female 4-40
Cable assembly, Power Jack
Cover power jack

Lanyard Pin 1/8"

Split ring .6

E-clip .125

Tag, serial

PCA, battery charger

Screw, PH, 4-24 x 3/16, Phil, SS
Nut, hex, #6, nyloc

Cable assembly, Modem to CPU
Antenna housing w/straight MMCX connector
Pad, poron 1.5 x .375 x .188
Modem

Bracket, mounting

Gasket, enclosure

Screw, FH, 6-32 x 1/2, Phil, SS, Black
Screw, PH, 4-40 x 1.38, Phil, SS
Gasket, battery

Pad poron 4.25 x .63 x .25

Pad poron 1.25 x 1.25 x .60
Screw, PH, 4-40 x .50 Phil, SS

List Price

100.00
115.00
60.00
2.50
2.50
36.00
11.00
8.00
1.00
1.00
1.00
275.00
.50

.50
35.00
125.00
2.00
1600.00
35.00
10.00
.50

.50
7.50
2.00
2.00
.50

Page 156

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-9750A RF REMOTE INDICATOR
BACK VIEW ASSEMBLY

Measurement Systems International
14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A



MSI-9300 Front Castin

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Assembly Gen. 1 and Gen. 2

Item Number Part Number Description List Price
1 501409-0001 Switch assembly 175.00
2 12134 Antenna housing w/Straight MMCX connector 125.00
3 502157-00001 Cable assembly Antenna 80.00
4 502037-0100 Casting 225.00
5 30026-0244  Screw, FH, 8-32 x 3/8, Phil, SS 50
6 30028-0229  Screw, PH, 6-32 x 7/16, Phil, SS 50
7 20701-0005  Washer Internal Tooth #8, SS 50
8 30017-0016  Nut, Hex, 8-32, SS 50
9 501839-0001 PCA, LED Display 375.00
10 11129 Shock Mount Flex, 8-32 10.00
11 502045-0100 Window 115.00
12 B00515-0100 Ground Strap 7.00
13 30017-0015  Nut, Hex, 6-32, SS 50
14 502117-0001 Cable assembly External Comm. 75.00
15 500156-0200 O-Ring, bulkhead 15.00
16 500156-0100 O-Ring, Front/Back 15.00
17 12027 Connector Cap 2.00
18 500710-0100 Label, Warning 2.00
19 502147-0100 Label, Descriptive 15.00
20 500032-**** Label, Capacity 15.00
21 20810-0183  Screw, SH, 3/8-16 x 1, SS 1.00
22 11182 Screw, PH, 6-32 x 1/4, SS 3.00
23 10870 Washer, seal 2.00
24 30038-0003  Screw, 3/8-16 x 1, SS, drilled 13.50

No Modem
25 502195-0100 Pad 3.00
26 502194-0100 Filter Plate 225.00

Page 158 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



VSN 199%-89
00Z3LS wnos 3l
JeuoneuIsju| SWolSAS Juswiainseay
ATGNISSY ONILSYD LNOYA
¢ N3O ANV | N39O 48 SN1d HOIFM-V1HO0d 00€6-ISW




MSI-9300 Bulkhead Assembly Gen. 1 and Gen. 2

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

NN L 2
OAREON 20OV AEAWN200CO®NOOT N =

Gen. 2 x*x*

Part Number

502080-0100
502082-0001
30028-0212
501592-0001
501687-0002
11129
30026-0242
501686-0001
501591-0001
501648-0400
502085-0001
502115-0001
501685-0003
502114-0001
501593-0001
11977

12059
30028-0226
11990
502081-0100
B00515-0100
30035-0015
501688-0001
502119-0001
30028-0229

501687-0001
501967-0003

Description

Bulkhead plate

Cable assembly, Load Cell

Screw, PH, 4-40 x 1/4, Phil, SS

PCA, High Resolution A/D

Cable assembly, A/D to Power Supply
Shock mount

Screw, FH, 8-32 x 1/4, Phil, SS

Cable assembly, Controller to Modem
PCA, Controller

Pad Adhesive, Battery

Battery assembly, 3V Lithium

Cable assembly, Comm. Internal
Cable assembly, Power Supply to Modem
Cable assembly, Electronics Power
PCA, Power Supply

Standoff Hex, .312 1g., 4-40 .188 M Thd.
Washer Flat #4, SS

Screw, PH, 6-32 x 1/4, Phil, SS
Modem

Bracket Electronics Front

Ground Strap

Nut, Hex, 6-32 Nyloc, SS

Cable assembly, A/D, Controller 8P
Cable assembly, Power Battery
Screw, 6-32 x 7/16, Phil, SS

)k kk

Cable assembly, A/D to Power Supply
PCA, Power Supply ***

List Price

45.00
65.00
.50
275.00
25.00
10.00
.50
25.00
500.00
1.00
40.00
20.00
5.00
15.00
350.00
2.00
1.25
.50
1600.00
30.00
7.00
.50
20.00
95.00
.50

15.00
300.00

Page 160

Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



V'S'N 199v-89186 uojbulusem ‘apess
00Z3LS Wnog anusAy ueqinisju| oyzy |
[euoneuIsIU| SWaISAS JuswaInsespy

ATENISSY avaHMINg
¢ N3O ANV | N3O 44 SN1d HOIIM-YLHOd 00€6-ISW




MSI-9300 Mid-Section Assembly 500 thru 10,000 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number

P N I . W
P EP NI 0ONNO TGO A WN =

15

16
17
18
19

Part Number

500760-0100
B00410-0003
11458

11460
502127-0001
502127-0002
502127-0003
502127-0004
20800-0120
B00413-0002
500716-0100
20950-0117
500786-0100
500783-0100
500010-0100
501290-0100
23600-0001
20810-0120
500787-0001
11906
500297-0001
11902
30028-0226
20701-0004
B00514-0001
20975-0026

Description

Collar 500#/10,000 lbs.

Seal

Nut, Hex, 5.8 - 11

Cotter Pin 1/8 x 1, SS

Load Cell assembly, 500 Ib

Load Cell assembly, 2,000 Ib

Load Cell assembly, 5,000 Ib

Load Cell assembly, 10,000 Ib
Screw, BH, 1/4-20 x 5/8, SS, socket
Eye, lifting 500/2,000 Ib

Eye, lifting 5,000/10,000 Ib

Screw Set, 1/4-20 x 3/8, SS

Collar, top ( 2 pcs. )

Link, upper

Casting

Bolt

Filter

Screw, SH, 1/4-20 x 5/8, SS

Hook assembly, swivel, 500/2,000 Ib
Latch, safety (fits 500787-0001)

Hook assembly, swivel, 5,000/10,000 Ib

Latch, safety (fits 500297-0001)
Screw, PH 6-32 x 1/4, Phil, SS
Washer Internal tooth #6
Ground Strap

Screw, PH, 6-32 x 3/16, Phil, SS

List Price

35.00
35.00
1.00
1.00
factory quote
800.00
800.00
1175.00
1.00
125.00
125.00
50
20.00/ea
175.00
300.00
15.00
5.00
1.00
725.00
25.00
750.00
30.00
50

50
10.00
50

Page 162

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-8300 PORTA-WEIGH PLUS RF
MID-SECTION ASSEMBLY 500 THRU 10,000 LB
Measurement Systems International

14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S. A



MSI-9300 Mid-Section Assembly 20 & 30,000 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 500218-0100 Seal 55.00

2 502127-0005 Load Cell assembly 1500.00

3 501291-0100 Bolt 30.00

4 30035-0027 Nut, Hex, 1/4-20, Nyloc, SS .50

5 C00436-0001 Gasket 3.50

6 20810-0123 Screw, SH, 1/4-20 x 1, SS 1.00

7 500345-0100 Eye, lifting 300.00

8 20950-0167 Screw set, 3/8-24 x 3/4, cut point, SS 1.00

9 500009-0100 Casting 300.00

10 23600-0001 Filter 5.00

11 10751 Cotter Pin, 3/16 x 2, SS 1.00

12 11459 Nut, Hex, 1.125-7 5.00

13 500111-0100 Collar 55.00

14 20810-0155 Screw, SH, 5/16-18 x 1, SS 1.50

15 500729-0001 Hook assembly, swivel, 20,000 Ib 1300.00
11904 Latch, safety (fits 500729-0001) 35.00

15 500729-0002 Hook assembly, swivel, 30,000 Ib 1600.00
11905 latch, safety (fits 500729-0002) 60.00

Page 164 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



South STE200

MID-SECTION ASSEMBLY 20 & 30,000 LBS

MSI-9300 PORTA-WEIGH PLUS RF
Measurement Systems International

Seattle, Washington 98168-4661 U.S.A

14240 Interurban Avenue




MSI-9300 Mid-Section Assembly 50 & 70,000 Ib

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 502127-0006 Load Cell assembly 2375.00
2 500110-0100 Casting 375.00
3 20810-0183 Screw, SH, 3/8-16 x 1, SS 1.00
4 23600-0001 Filter 5.00
5 500218-0100 Seal 55.00
6 500111-0100 Collar 55.00
7 20810-0155 Screw, SH, 5/16-18 x 1, SS 1.50
8 30028-0226  Screw, PH, 6-32 x 1/4, Phil, SS .50
9 20701-0004  Washer Internal tooth #6, SS .50
10 20975-0026  Screw, PH, 6-32 x 3/16, Phil, SS .50
11 B00514-0001 Ground Strap 10.00
Page 166 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



wn
om
a
o
S
w S
@R
22 8%
a3_g9
D-V-a_._l._U
sw
I 8%3
m._wnMumw%
Yugog
Aﬁﬂmw
TAmwm
RNm.At
OO0#»§2
Pnt.ml
5%
FHE
SWEE=
PN 2ol
no83F
===




MSI-9300 Battery

Replacement Parts Price List™ Effective 4/04
Measurement Systems International

Casting Assembly

Item Number

_— A
1o O E M0N0 A WN =

Part Number

502167-0100
10119
C00517-0001
30013-0040
30028-0232
38920-0001
30028-0228
30026-0244
502123-0100
500156-0100
30035-0015
502122-0001
502171-0100
502124-0100
502118-0100
12639
502132-0001

Description

Casting

Connector, feed-thru, w/nut
Connector, battery

Washer Flat #6, SS

Screw, PH, 6-32 x 3/4, Phil, SS
Plug, banana

Screw, PH, 6-32 x 3/8, Phil, SS
Screw, FH, 8-32 x 3/8, Phil, SS
Plate, catch battery door
O-Ring

Nut, Hex, 6-32, Nyloc, SS
Cable assembly battery

Pad, 1 x 2.25 w/adhesive
Gasket, casting door

Casting

Latch, compression 1/4 to 3/8
Label, warning

List Price

175.00
3.50
20.00
.50

.50
3.50
.50

.50
20.00
15.00
.50
100.00
1.50
10.00
150.00
35.00
13.00

Page 168

Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-9300 PORTA-WEIGH PLUS RF
BATTERY CASTING ASSEMBLY

Measurement Systems International

14240 Interurban Avenue South STE200
Seattle, Washington 98168-4661 U.S.A



MSI-9300 Universal Battery Charger

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 12747 Power cord, North America 25.00
1 12754 Power cord, United Kingdom (not shown) 25.00
1 12752 Power cord, European (not shown) 25.00
1 12753 Power cord, Australian (not shown) 25.00
2 12745 Universal power adapter 125.00
3 21000-0029  Screw, RH 6-32 x 3/8, Sltd., SS 50
4 20701-0004  Washer internal tooth #6, SS .50
5 10161 Lug, solder #6, copper 1.00
6 501932-0100 Housing battery plug 35.00
7 38920-0001 Plug, banana 3.50
8 502227-0100 Label, descriptive 12V 10.00

502221-0001 Universal battery charger 115/230 VAC, 245.00

50/60 Hz (North American plug configuration is
standard, contact factory if alternate is required)

Page 170 Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



V'S'N 199789186 uojbuiysep ‘spiess
00Z3LS PNOg anuaAy UBGINIBIU| 0pZ |
[euoeuIs)U| SWa)SAS JUSLIBINSEI

YIOUVHI A¥3LLVYE TYSHIAINN
44 SN1d HOI13M-V.LHOd 00€6-ISN




MSI-5400 AxleMAX Assembly

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 12731 Bolt kit, load cell 75.00
2 12730 Load cellassembly 1295.00

Page 172 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



Y'S'N 1997-89186 uoibulysep ‘ofjess
00Z3LS WnoS anusAy uequnisiu] oyey |
JeUORELISIU| SWAISAS JUBWBINSBa

ASSY TWNI4 XVYIN 3TXV 00vS-ISW




MSI-9002 CellScale Breakout / Summing Box

Replacement Parts Price List - Effective 4/04
Measurement Systems International

Item Number Part Number Description List Price
1 12338 Cord grip, PG11 6.00

2 10537 Pin, acetal, 1/4 DIA x 3/4 .50

3 10119 Cord grip, PG9 3.50

4 30028-0226  Screw, PH, 6-32 x 1/4, Phil, SS .50

5 501917-0100 Label, descriptive 35.00

6 30028-0212  Screw, PH, 4-40 x 1/4, Phil, SS .50

7 501920-0100 Cover, enclosure 225.00

8 502021-0100 Label, wiring detail 5.00

9 501702-0001 PCAassembly 375.00

10 11976 Standoff, hex, 3/8 Lg, 4-40 x 0.188, SS 3.50

11 501368-0001  O-ringassembly 10.00

12 501707-0100 Enclosure, breakout/summing box 425.00

Page 174 Technical specifications subject to change without notice.

Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



MSI-9002 CELLSCALE BREAKOUT/SUMMING BOX
Measurement Systems International

14240 Interurban Avenue South STE200

Seattle, Washington 98168-4661 U.S.A




Shackle Dimensions

Replacement Parts Price List - Effective 4/04
Measurement Systems International

W.L.L. Weight
Part Number Tons Size A B C D E F H L N P (Ibs)
10541 31/4 63 1.06 75 2.38 .63 1.69 1.56 4.22 2.94 .69 63 158
10538 61/2 .88 1.44 1.00 331 .88 2.28 2.13 5.75 4,03 97 500 3.95
10539 17 1.50 2.38 1.63 5.75 1.50 3.88 3.63 9.88 6.88 1.62 825 19.50
10540 25 1.75 2.88 2.00 7.00 1.75 5.00 432 1188 8.50 212 959 3130
23650-0030 30 1.50 2.38 1.63 5.75 1.50 3.88 3.63 9.88 6.88 1.62 825 20.80
23650-0040 40 1.75 2.88 2.00 7.00 1.75 5.00 432 1188 8.50 212 959 3391
23650-0050 55 2.00 3.25 2.25 7.75 2.00 5.75 500 13.38 9.75 200 1100 5175
23650-0110 110 3.00 5.00 325 13.00 3.00 7.88 650 2150 1450 363 1650 178.00
23650-0175 175 4,00 5.50 425 1450 400 10.00 9.00 2569 18.38 456  19.75 338.00

Oversized Shackles

501386-0100 40 1.75 2.88 200 10.00 1.75 6.00 432 15.00 9.50 1.75 9.00 45.00
501082-0100 40 2.25 2.88 200 1350 2.25 8.00 432 1785 1250 225 10.00 90.00
501083-0100 50 2.00 3.25 225 1225 2.00 8.00 500 17.00 12.00 200 1100 72.00
Shims

30013-0112 (For use with 50K/70K ton shackles)

Page 176 Technical specifications subject to change without notice.
Prices suggested list F.0.B. MSI plant, Seattle, Washington are subject to change without notice.



LA Measurement Systems International

14240 Interurban Avenue South STE 200
Printed in U.S.A. Seattle, Washington 98168-4661 U.S.A.
PUB.182-06-92G Phone: 206-433-0199 ¢ Fax: 206-244-8470
© 2004 by Measurement Systems International Web: www.MSlIscales.com e Email: info@MSl|scales.com



	Table of Contents
	Discount, Terms, Conditions & Warranty
	MSI Exchange Parts
	MSI-600 Series Check-Weigh Head Assembly
	MSI-600 Series Check-Weigh Head Assembly (4-90 & on)
	MSI-600 Series Check-Weigh Base Assembly 5 & 10 lb
	MSI-600 Series Check-Weigh Base Assembly 30 thru 200 lb
	MSI-600 Series Check-Weigh Power Supply Assembly
	MSI-6000 Series Check-Weigh Head Assembly
	MSI-6000 Series Check-Weigh Base Assembly 6 & 12 lb
	MSI-6000 Series Check-Weigh Base Assembly 30 thru 220 lb
	MSI-7200 Dyna-Link Standard Assembly
	MSI-7200 Dyna-Link Remote 1 Assembly
	MSI-7200 Dyna-Link Remote 1 Enclosure Assembly
	MSI-7200 Dyna-Link Remote 2 Assembly
	MSI-7200 Dyna-Link Remote 2 Enclosure Assembly
	MSI-7200 RFL Dyna-Link
	MSI-7200 RFH Dyna-Link RF Remote Control
	MSI-3260 Challenger Assembly (Front View)
	MSI-3260 Challenger Assembly (Back View)
	MSI-3260/3360 Challenger Battery Charger Assembly
	MSI-3360 Challenger 2 Assembly (Front View)
	MSI-3360 Challenger 2 Assembly (Back View)
	MSI-3360 Challenger 2 Assembly (15,000 lb)
	MSI-4260 Port-A-Weigh Front Casting Assembly
	MSI-4260 Port-A-Weigh Mid-Section Assembly 500 thru 10,000 lb
	MSI-4260 Port-A-Weigh Mid-Section Assembly 20 & 30,000 lb
	MSI-4260 Port-A-Weigh Mid-Section Assembly 50 & 70,000 lb
	MSI-4260 Port-A-Weigh Battery Casting Assembly
	MSI-4260 Port-A-Weigh Battery Charger Assembly
	MSI-4260 Port-A-Weigh Universal Battery Charger Assembly
	MSI-4300 Porta-Weigh Plus Front Casting Assembly
	MSI-4300 Porta-Weigh Plus Mid-Section Assembly 500 thru 10,000 lb
	MSI-4300 Porta-Weigh Plus Mid-Section Assembly 20 & 30,000 lb
	MSI-4300 Porta-Weigh Plus Mid-Section Assembly 50 & 70,000 lb
	MSI-4300 Porta-Weigh Plus Battery Casting Assembly
	MSI-4300 Porta-Weigh Plus Bulkhead Assembly
	MSI-6260 Trans-Weigh Front Casting Assembly
	MSI-6260 Trans-Weigh Front Casting Assembly (11-98 & On)
	MSI-6260 Trans-Weigh Front Casting Assembly (11-98 & On)
	MSI-6260 Trans-Weigh Mid-Section Assembly 500 thru 10,000 lb
	MSI-6260 Trans-Weigh Mid-Section Assembly 20 & 30,000 lb
	MSI-6260 Trans-Weigh Mid-Section Assembly 50 & 70,000 lb
	MSI-6260 Trans-Weigh Battery Casting Assembly
	MSI-6260 Trans-Weigh Battery Charger Assembly
	MSI-6260 Trans-Weigh Universal Battery Charger Assembly
	MSI-6260 Trans-Weigh Indicator Assembly
	MSI-6260 Trans-Weigh Remote Antenna Assembly
	MSI-3600 Magnum Carriage Assembly
	MSI-3600 Magnum Indicator Assembly
	MSI-3700 Magnum Plus Carriage Assembly
	MSI-3700 Magnum Plus Carriage Assembly
	MSI-5300 Load Ranger Pad Assembly
	MSI-3550 Meter Assembly (AC Power Input)
	MSI-3550 Meter Assembly (AC Power Input)
	MSI-3550 Meter Assembly (Battery Powered)
	MSI-3550 Meter Assembly (Battery Powered)
	MSI-3550 Meter Assembly (DC Power Input)
	MSI-3550 Meter Assembly (DC Power Input)
	MSI-3650 Meter Assembly (AC Power Input)
	MSI-3650 Meter Assembly (DC Power Input)
	MSI-3650 Meter Assembly (Battery Powered)
	MSI-3650/3750/3750CS Mounting Bracket Assembly
	MSI-9000 CellScale
	MSI-9002 CellScale Breakout / Summing Box
	MSI-9000 CellScale Power Supply
	MSI-3750/3750CS Meter Housing
	MSI-3750/3750CS Front Panel
	MSI-3750CS Modem Assembly
	MSI-6260CS Trans-Weigh Front Casting Assembly
	MSI-6260CS Trans-Weigh Mid-Section Assembly (500 - 10,000 lb)
	MSI-6260CS Trans-Weigh Mid-Section Assembly (20 & 30,000 lb)
	MSI-6260CS Trans-Weigh Mid-Section Assembly (50 & 70,000 lb)
	MSI-6260CS Trans-Weigh Battery Casting Assembly
	MSI-6260CS Trans-Weigh Univeral Battery Charger Assembly
	MSI-9750 RF Remote Indicator ( Front View )
	MSI-9750 RF Remote Indicator ( Back View )
	MSI-9750A RF Remote Indicator (Front View)
	MSI-9750A RF Remote Indicator (Back View)
	MSI-9300 Front Casting Assembly Gen. 1 and Gen. 2
	MSI-9300 Bulkhead Assembly Gen. 1 and Gen. 2
	MSI-9300 Mid-Section Assembly 500 thru 10,000 lb
	MSI-9300 Mid-Section Assembly 20 & 30,000 lb
	MSI-9300 Mid-Section Assembly 50 & 70,000 lb
	MSI-9300 Battery Casting Assembly
	MSI-9300 Universal Battery Charger
	MSI-5400 AxleMAX Assembly
	MSI-9002 CellScale Breakout / Summing Box
	Shackle Dimensions

